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Al 827,400
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Al 827,400
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Al 459,830
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Al 1,526
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301 Let2H = 1,000 1,000
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O EIIB AHMBRIAY 35,650 35,329 321
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307 21201 A 35,650 35,329 321
| 35,650
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SA: AGEAA HUSADY
HE: AYSH
Sl CIRFGNS 7S Y AYHE T4 (S &2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
= 36,845
Al 55,267
307 2iz2to| A 184,224 182,440 1,784
J| 92,112
&< 36,845
Al 55,267
05 QIZ2tE 2 184,224 182,440 1,784
OFMNAHUEXHE 2 184,224,000 184,224
J| 92,112
& 36,845
Al 55,267
HFUAHUSAHEYH ESS 254,268 215,880 38,388
J| 127,134
o=} 50,854
Al 76,280
307 QI2t0| ™ 254,268 215,880 38,388
J| 127,134
& 50,854
Al 76,280
05 QIZtREZ 254,268 215,880 38,388
OFNAHU=SXHE ClSEES 254,268,000 254,268
J| 127,134
& 50,854
Al 76,280
OlSEAYE HABEHAAYE 52,294 51,970 324
J| 26,147
== 26,147
307 2Iz2t0| A 52,294 51,970 324
Jl 26,147
== 26,147
05 QIZ2tRE 2 52,294 51,970 324
OOsSEAY HAUBAHAY 52,294,000 52,294
J| 26,147
= 26,147
Ratollet & HAAZUSTAFS (XHA) 25,000 25,000 0
307 gizto| & 25,000 25,000 0
05 QIZtR E S 25,000 25,000 0
(@3 1s] 25,000,000& * 1= 25,000
Karog 2 BAMALSTAIG(EX) 71,260 71,260 0
J| 35,630
=} 10,689
Al 24,941
307 QI2t0| ™ 71,260 71,260 0
J| 35,630
=} 10,689
Al 24,941
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(©F 3] 71,260,000& = 10024 71,260
J| 35,630
< 10,689
Al 24,941
SSEEN Nz2el XA 25,000 25,000 0
< 7,500
Al 17,500
307 21201 A 25,000 25,000 0
< 7,500
Al 17,500
05 RIZt2IE = 25,000 25,000 0
o=zl Az XA 25,000,000& 25,000
S 7,500
Al 17,500
et S =z XA 13,000 13,000 0
< 3,900
Al 9,100
307 glz2tol & 13,000 13,000 0
< 3,900
Al 9,100
05 BIZHRI & 3 13,000 13,000 0
OX&EX S22zl XA
13,000, 000& 13,000
< 3,900
Al 9,100
AAAE MY WERD *= 4,000 4,000 0
< 1,200
Al 2,800
307 21201 A 4,000 4,000 0
< 1,200
Al 2,800
05 BIZHRI & 3 4,000 4,000 0
OXZALE a0 WERD *=
4,000,000 4,000
< 1,200
Al 2,800
FAUAL=RNEEH S SAXL dRMAH X2 20,400 18,000 2,400
< 6,120
Al 14,280
307 21201 A 20,400 18,000 2,400
< 6,120
Al 14,280
05 RIZt2IEt = 20,400 18,000 2,400
OFMNAULESTHEEH & SAA MRMLH X2
20,400,000 20,400
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Jl 160
S 8
Al 32
0z #4 ¢ 2,000
OXNHMEIBAN 810 HA &g
100,000¥ * 23| » 8%H 1,600
Jl 1,280
& 64
Al 256
OXIMHBS=AAY Atellzle g4 ¢
100,000& = 4% 400
Jl 320
£ 16
Al 64
O1ul =l 90,0008 » 229 1,980
Il 1,584
= 79
Al 317
od=2=0 et 34,5008 = 504 » 12& 2,070
Jl 1,656
< 83
Al 331
O3J1&E &I &2l 2,609,000& 2,609
Il 2,087
& 104
Al 418
OFAEY =2  1,380,000& * 1& » 128 16,560
Jl 13,248
S 662
Al 2,650
OgFE M UHH ===
770,000& = 200 = 102 15,400
Jl 12,320
£ 616
Al 2,464
OXIOHtA EIE AM 2 S 252,162
OXNNSESE L ZIATAL
40,000,000& 40,000
Jl 32,000
= 1,600
Al 6,400
OXIHAAIHE & o2l AL
52,162,000& 52,162
Jl 41,730
3 2,086
Al 8,346
OXier& 0t 28 10,000,000 * 2J4 2 20,000
Jl 16,000
< 800
Al 3,200
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SRAL AASHD
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SA BB O () - MM - HES 0l &+ o4 il
OXMesHeEe & HEXAMZ
20,000,000& 20,000
| 16,000
< 800
Al 3,200
OXIMHetAMEH &1 5 120,000,000 120,000
| 96,000
< 4,800
Al 19,200
OXIOHetAME 2Z I 19,315,000& 19,315
| 15,452
< 773
Al 3,090
02 3322l 20,064 19,564
OXIHtAHE SERI(MASH)
500& = 30,0004 15,000
| 12,000
= 600
Al 2,400
OTV & 2HYRZ 47,0003 = 12& 564
| 451
= 23
Al 90
OXt& = Xl 200,000& * 2CH = 10 4,000
| 3,200
= 160
Al 640
OZZIOSHEHFWA € = 2&3 500,000 500
J| 400
= 20
Al 80
03 A2 S HI 40,000 40,000
OWS, TIH Y AH 2
15,000,000& 15,000
J| 12,000
< 600
Al 2,400
OXIbetaOts 29 25,000,000& 25,000
| 20,000
< 1,000
Al 4,000
202 o4dl 26,400 26,400
| 21,120
< 1,056
Al 4,224
01 = LH o4 1l 26,400 26,400
OXIHY S E&HA®Hl 100,000& » 229 = 12& 26,400
J| 21,120
< 1,056
Al 4,224




2N
X ZH -
L= B

el

AYEAL AVZHY
AL
AZHAHS PS L AY

o

= REE

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
301 LEHZ 12,400 20,000 A7,600
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Ous T2 A HHC 2H S
10,000, 000& 10,000
| 8,000
= 400
Al 1,600
12243 2,400 0 2,400
oO33=Fd¢e 23X Al
200,000& = 1¥ « 123 2,400
| 1,920
< 96
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307 glz2+ol & 156,600 165,500 A 8,900
| 125,280
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01 =2 =4l 156,600 165,000 A 8,400
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| 77,280
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0oz & g=&8 AEZ 30,000,000& 30,000
J| 24,000
< 1,200
Al 4,800
OXIHEIIAA HUAAH  150,000& * 200H 30,000
| 24,000
< 1,200
Al 4,800
XOHXIZ2elg (A )X 140,097 121,034 19,063
| 70,049
< 21,014
Al 49,034
308 XXM S0 A 140,097 121,034 19,063
| 70,049
< 21,014
Al 49,034
113/ 2SHUHSZAEEALS I 140,097 121,034 19,063
[0 XIS2eldl X& 140,097,000& 140,097
| 70,049
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= 21,431
Al 85,726
307 2iz2to| A 107,157 98,824 8,333
= 21,431
Al 85,726
01 e =t 107,157 98,824 8,333
OXIONeX =sMHEXSH 107,157,000 107,157
& 21,431
Al 85,726
XN 225H X 2,900 2,700 200
J| 2,320
=} 116
Al 464
201 et | 500 300 200
J| 400
& 20
Al 80
01 AR 22l ] 500 300 200
oAl EX HE S 500,000 = 1H 500
J| 400
& 20
Al 80
301 et A= 2,400 2,400 0
J| 1,920
o 96
Al 384
12 JIEtE2 A= 2,400 2,400 0
O22F402 =Xl
200,000& = 1  12& 2,400
J| 1,920
& 96
Al 384
XOHQIADN A XK (CIXHE T2 29) 10,000 10,000 0
= 2,000
Al 8,000
201 gEt24y| 2,400 3,500 A 1,100
= 480
Al 1,920
01 AP 22| H| 2,400 3,500 A 1,100
ooXMEEz )N =82 & =HE S
2,400,000& 2,400
& 480
Al 1,920
301 et A= 7,600 6,500 1,100
== 1,520
Al 6,080
09 SHAIAHI X &2 200 300 A 100
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- _ _ RE]
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12 JIEtE2 A= 7,400 1,200
O2J14 X210 S=AAH| 7,400,000& 7,400
& 1,480
Al 5,920
DA Ols2 H2ZAIE P2& 820,065 14,752
= 103,750
g 256,445
J| 111,738
& 105,391
Al 242,741
RIUEAHAY 10,450 A7,990
201 gEt2Ay| 10,450 A 1,140
01 AP 2t 2| H| 10,450 A 1,140
OUMEXNSXIHEXR E EBX HE
1,000& = 1,0008 * 95% 950
ORZXNEZHAIYE EE2EEE ¢
2,500 * 4= « 1,000 * 95% 9,500
HAGMD AAESA o2l NH 3,000 500
J| 1,500
o= 750
Al 750
308 AMXISHMSOIA 3,000 500
J| 1,500
o= 750
Al 750
11 BI2SUHUSHEAEAE AN Y| 3,000 500
OFAEAD AANEA QS HI X
3,000,000 3,000
J| 1,500
= 750
Al 750
ADAMOF AL 2e|AF KR A 366,350 2,445
hag 256,445
Al 109,905
308 AMXISHMSOIA 366,350 2,445
Fag 256,445
Al 109,905
11 BI2SUHUSHEAEAE AT Y| 366,350 2,445
OADAMOIAHZL 2| AL S 366,350,000 366,350
Fag 256,445
Al 109,905
IR0 AAHX 2,700 A 300
J| 2,160
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R0t LLH HLAAH XA 2,336 2,250 86
J| 1,869
< 140
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307 glz2tol & 2,336 2,250 86
J| 1,869
< 140
Al 327

01 2222l 2,336 2,250 86
OZ70t LLHOM HUHAHI 2,336,000 2,336
J| 1,869
< 140
Al 327

SESHALOIA ZAH & &ot2tel 23,040 23,500 A 460
J| 11,520
< 5,760
Al 5,760

307 21201 A 23,040 23,500 A 460
J| 11,520
< 5,760
Al 5,760

01 92724l 23,040 23,500 A 460
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J| 1,000
< 500
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01 222l 2,000 5,250 N 3,250
OZAHl & EHIIXA 2,000,000& 2,000
J| 1,000
= 500
Al 500
Ol=0F ¥ A& H0I&0t o= 23,040 26,000 A 2,960
J| 11,520
< 5,760
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307 21201 A 23,040 26,000 A 2,960
J| 11,520
< 5,760
Al 5,760
01 92724l 23,040 26,000 A 2,960
O0l=0t & L0140t 2 =HI
23,040,000& 23,040
J| 11,520
< 5,760
Al 5,760
HEEEAEHE 1,718 1,718 0
J| 859
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Al 429
308 XXM SOIA 1,718 1,718 0
J| 859
< 430
Al 429
N 3IN2SUHUS3AEAE A 1,718 1,718 0
OHZEZANEATF 1,718,000 1,718
J| 859
< 430
Al 429
HYEE X 137,600 116,000 21,600
J| 68,800
< 34,400




2N
X ZH -
L= B

el

SN FH-SA(EN) - MBAY - BES

0l &t o

=
i

2

Al

34,400

307 21201 A

Il

in

Al

137,600
68,800
34,400
34,400

116,000

21,600
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o
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hl

fu
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E
= 137,600, 0002

0
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f

Al

137,600

137,600
68,800
34,400
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116,000

21,600

e steXI 2 XA

16,443

16,490
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950

NAT

2,000& * 4755 = 95%

903
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950

A7

156,540

15,540

F eEXSHIXE

1,036,000& = 159

15,540

15,540

15,540

nNASYAR 224 XA

y

H

Al

22,000
11,000
5,500
5,500

22,000

307 glz2tol ™

hn X

Al
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11,000
5,500
5,500

22,000
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kHU
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all

22,000,000&

= M

22,000

22,000
11,000
5,500
5,500

22,000

HAEE JIMAH ZME2S NBAMY

= 0N W

207,500
103,750

51,875
51,875

157,500

50,000

308 MHXIHMSOIH

= M W

207,500
103,750
51,875
51,875

157,500

50,000

207,500,000&

= MW

207,500

207,500
103,750
51,875
51,875

157,500

50,000

02
02

o
08
oy
J==
o
op
o
ry
b
ry

N
Ol
™
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1,

466,362

1,369,746

96,616




2N
X ZH -
L= B

el

0z

ro 02
JE 0 0f
M0 MO HI

02 02 ¥
=5

T

\J
X

r

=
0z 0y

02 Ol

Cigpal
(|

IS
S
0
o
pal
S|

SA BB O () - MM - HES 0l &+ o4 il
= 58, 198
| 387,264
< 51,563
Al 969,337
ol 2 gl 1,368,222
= 58,198
| 387,264
< 51,563
Al 871,197
ol 615,877
ol A Hl 615,877
2 132,694
oxzuzex¢
0,841& = 34Y = 30AI2t = 128 132,694
03 RIAHAZZAE S 483,183
OF= R 374,805
oJleg(gers2s) 65,525
-1788(0t=2) 3,037,940& » 1H » 128 36,456
b5 S (=) 2,422,370& ~ 1H » 128 29,069
ONEs=< 16,560
—bH < Xt 40,0003 = 16H » 123 7,680
-EX 20,000& = 1098 » 12& 2,400
Bl PNIE 20,000& = 10¥ » 123 2,400
1. PNIE 60,0003 = 4H » 123 2,880
—SU B AHA 100,000& » 198 = 128 1,200
o254 680,000,000& * 5% 34,000
O&d=+< 50,000& * 229 » 12& 13,200
ORg=Y 30,000& * 21H » 12& 7,560
omers=¢ 30,000& = 1¥ » 12& 360
Ozxzuze=¢
L0003 = 22% = 15A12t = 12& 75,240
O=gtl 140,000& * 22% » 12& 36,960
OY &S tyl 59,400,000& = 50% * 23| 59,400
OAIIE &l 95,0003 * 22%H » 20 41,800
(OFJE= 800,000& =« 239H 18,400
OB2+=uSH|(2tS AF) 40,0003 = 13Y 520
Ous % Z2AZF0HI
40,000 * 22% * 13| * 68 5,280
O4UEE a2 (229) 106,398
(OFaR= )= 980,000,000& * 3.335% 32,683
O®ILEH 32,683,000& * 10.25% 3,351
O3z 980,000,000& * 4.5% 44,100
OCnE:LH 980,000,000 * 1.65% 16,170
Ot EE 980,000,000& * 1.03% 10,094




A A4EEAL HASED
O HWR ALY (MPYRAL ALBAD)
& o 2d| (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ou =l 90,000& » 229 1,980
Xt e 2SR (BEX) 230,968 206,370 24,598
J| 184,774
< 9,239
Al 36,955
101 @124 dl 216,635 192,037 24,598
J| 173,308
< 8,665
Al 34,662
02 JIEtE B = 216,635 192,037 24,598
OAZHEEHYIIH SR Jlaes
158,500, 000& 158,500
J| 126,800
< 6,340
Al 25,360
OAMNUHEHAIM S22 U063 (7Y)
17,127,000& 17,127
J| 13,702
< 686
Al 2,739
o= 25,749
OMMABEE+E 3,360
~Hi 2 Xt 40,0002 * 2% + 12 960
J| 768
< 38
Al 154
ol DNIE 20,000& = 2% = 12& 480
J| 384
< 19
Al 77
1 PNIE 60,0003 = 28 » 123 1,440
J| 1,152
< 58
Al 230
-Edl X 20,000 = 2% = 12& 480
J| 384
< 19
Al 77
OANM2AZREY
8,798% = 7H » 20AI12t » 123 14,781
J| 11,825
< 591
Al 2,365
OE+ARH 90,5704 * 78 « 123 7,608
J| 6,086
& 304
Al 1,218
O A IS &Y 6,490 * 7H * 77AI2 3,499
J| 2,799




A A4EEAL HASED
HH: ANSYAU (HSTEAL ABSAD)
& o 2d| (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
< 140
Al 560
OF U Z A 140,000& = 7H = 12& 11,760
J| 9,408
< 470
Al 1,882
204 HR=HAH| 14,333 14,333 0
| 11,466
= 574
Al 2,293
02 A2 Xl 10,658 10,658 0
OAZHH ERRIA DI M (92 & &, 35A12H)
145,000 * 35/40 = 74 » 12& 10,658
| 8,526
< 427
Al 1,705
03 EZ YA 3,675 3,675 0
OAZEEHHAINE HOIBSH (2EE2)
50,0002 * 35/40 = 794 * 12& 3,675
J| 2,940
= 147
Al 588
ANZZESHHEAMS (EX) 71,360 52,560 18,800
| 35,680
Al 35,680
101 @124l 69,312 51,535 17,777
| 34,656
Al 34,656
02 JIEtE B == 29,311 13,294 16,017
OAZEEBHAINH S2E Jl2=2
1,747,330 * 1€ * 123 20,968
J| 10,484
Al 10,484
OAZHEEHYIH SS& duadds
1,864,000& * 19 1,864
J| 932
Al 932
o= 1,680
OMAEESY 1,680
-t < Xt 40,000 * 1 = 128 480
| 240
Al 240
-E=5 20,000& = 1¥ » 12& 240
| 120
Al 120
ol PNE 20,0004 = 1H ~ 123 240
| 120
Al 120




2N
X ZH -
L= B

el

NEEAL ABETY
BHSAAY (AL BAL ALSADY)
ol2 2 oy

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
-=MAH 60,000& = 1¥ » 12& 720
| 360
Al 360
ONAARRLY
8,798 * 1H » 20AI2F » 123 2,112
| 1,056
Al 1,056
OEx=ARSYH 83,870& * 1H » 123 1,007
| 504
Al 503
OF U Z A 140,000& » 198 = 128 1,680
| 840
Al 840
03 I AHA2ZZRHE > 40,001 38,241 1,760
OZHMEZ2ASAH(1Y) 40,001
ool 40,001,000& 40,001
| 20,000
Al 20,001
204 HMR=HAH| 2,048 1,025 1,023
| 1,024
Al 1,024
02 A2l 1,523 762 761
O A+ & ERA D] A
145,000@ * 35/40A12F * 1H * 12& 1,523
| 761
Al 762
03 EZYFEHI 525 263 262
ONHHSH LK WO HSH(BSZY)
50,0002 * 35/40 = 14 * 128 525
J| 263
Al 262
KNAAMNE SESHLSIAMG(EX) 141,840 138,240 3,600
| 70,920
< 14,184
Al 56,736
101 14 dl 141,840 138,240 3,600
| 70,920
< 14,184
Al 56,736
03 I HA2RIE % 141,840 138,240 3,600
OSEHLASTAIY M2l ol2H| (6F)
140,400,000 140,400
| 70,200
< 14,040
Al 56,160
OSEAHLSIAY E20H WS
240,000& » 69H 1,440
| 720




AGdEHAL HLSE D
HE2IAZH (AGgEAHL H2SEL)
el 2| )
SN BA(SA) - MRAY - BES il HImEET
< 144
Al 576
e SHYHAHHAMSE(BX) 23,640 23,040 600
J| 11,820
< 2,364
Al 9,456
101 @14 Hl 23,640 23,040 600
J| 11,820
< 2,364
Al 9,456
03 RIAHAZ 2T E =+ 23,640 23,040 600
OZHtY HANAIY Azoldd oAy (1Y)
23,400,000 23,400
J| 11,700
< 2,340
Al 9,360
OI2HY AAHNHAIY A2 W=H|
240,000 » 19H 240
J| 120
< 24
Al 96
NSNS S 2AXNIAMEIA(BX) 141,360 137,760 3,600
J| 70,680
< 14,136
Al 56,544
101 @14 Hl 141,360 137,760 3,600
J| 70,680
< 14,136
Al 56,544
03 RIAHAZZ2 T E =+ 141,360 137,760 3,600
OSHAZA & SAHAAM 2 (6F)
140,400, 000& 140,400
J| 70,200
= 14,040
Al 56,160
O&Zold n=sHl 240,000 * 44 960
J| 480
< 96
Al 384
AL HMNS(BEX) 116,397 123,866 AT,469
= 58,198
< 11,640
Al 46,559
101 @124l 116,397 123,866 AT,469
= 58,198
< 11,640
Al 46,559
03 RIHAZ 22 = 116,397 123,866 AT,469




SH MYEAL ABEAD
HH: ANSYAU (HSTEAL ABSAD)
gel: o2yl eEH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
ORI HA2Z X I2AHH|I(5YH) 115,197
Oog2Adae 832 olAHy|
115,197,000 115,197
= 57,598
o= 11,520
Al 46,079
O&dEZ0oldE W=H| 240,000 = 5 1,200
= 600
& 120
Al 480
2IIHLEE S=2 QAHHI(EX) 26,780 26,544 236
Jl 13,390
Al 13,390
101 Q124 H| 26,780 26,544 236
Jl 13,390
Al 13,390
03 RIHE*ZZXHE = 26,780 26,544 236
ONYRESSHESY 2500 (17)
26,780,000 26,780
J| 13,390
Al 13,390
| 23t 98, 140 90,813 7,327
Jl2AH| 98, 140 90,813 7,327
201 et 9| 49,732 46,397 3,335
01 AR 22l ] 41,122 34,937 6,185
oJlE2geLdist =S AL (JI=AHl)
500,000€ * 41 * 90% 18,450
o3I (J1=ZHl)
8,000 * 41¥ * 8% x 128 * 80% * 90% 22,672
02 222%4| 8,610 11,460 A 2,850
o= 8,610
Ogst 350& * 1,000 * 12€& 4,200
=Pl 2,4508 x 150 ~ 12€ 4,410
202 o4 | 41,568 36,116 5,452
01 2L I 31,968 36,116 N4, 148
©OJ|E=&H|
20,000 = 37Y * 6L * 128 * 60% 31,968
02 NI 9,600 0 9,600
OOt BAHEXNAHA
200,000& * 49 * 12& 9,600
203 SR F & 6,840 8,300 AN 1,460
04 EASHEYRFAH| 6,840 6,180 660
OPIE 6,840
O30¢2! 0]atk 400,000& = 12&€ 4,800
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= o
A & 0l & AF 2 E A A
2021EE EOIA YUHEH MEAL PAFMY ~ HADAL
SA: NRASAL
HE: AYSH
Sl H2ACRAIM JIBRE CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
NEEAHA 13,473,491 12,773,839 699,652
= 1,213,992
s 331,870
J| 3,456,820
< 953,973
Al 7,516,836
Pl = 11,355,363 10,767,887 587,476
= 1,106,941
s 331,870
J| 3,042,740
< 887,480
Al 5,986,332
SAOAZANE Dl F 642,525 1,152,224 A 509,699
= 31,693
= 11,080
Al 599,752
S AU A2 S 136,244 143,748 AT,504
101 @124l 109,795 109,523 272
04 JIZHHNZ2Z2XNSE+ 109,795 109,523 272
© 2l At 109,795
Ol 290,000& » 1% = 262 = 12& 90,480
C4EE JI22E3 9,825
AL L2E 90,480,000& * 3.335% 3,018
B3I eLEE 3,018,000& * 10.25% 310
=03 90,480,000& * 4.5% 4,072
-1EEE 90,480,000& * 1.65% 1,493
“MTHEE 90,480,000& * 1.03% 932
OZ & Fotyl 200,000 » 1Y « 23] 400
O=XNEQAE 300,000& = 1H 300
O& &=z 290,000 * 30 8,700
o1l =l 90,000& » 1H 90
201 Yute | 6,649 5,965 684
01 At 22/l 6,649 5,965 684
ORI AAL O 44 1,953
OSfMdl #&2 703 * 6,500 * 95% 433
OXsx SAEAM 100& * 4,000 » 95% 380
ONsx HLHA 503 * 4,000 = 95% 190
O=F=xd 253 * 40,0008 * 95% 950
OXEIIE FEFx=2
100,000& = 128 = 95% 1,140
OdzZ e 2AHLE MHIA
7, 7003 * 128 » 95% 88
o=2cdizgs 29 950




2N
X ZH -
L= B

el

A2 S AIE Jet =

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OMNMEZSXH2E8 NH S
100,000 * 53 * 95% 475
OHEHNEHI 200,000 * 95% 190
OEt272¢ 10,000& = 30& * 95% 285
O Il =H| 1,283
Q2 Ak 90,000& = 5% = 95% 428
Oog L RN 90,000& * 10 = 95% 855
ONMU=222 ==l 100,000& * 1€ = 95% 95
S22 =AX¥_2
300,000 = 2% * 2& * 95% 1,140
202 04| 4,560 4,560 0
01 2L Y| 4,560 4,560 0
OSETEAH2AA JIE=AHHI
20,000& * 4% » 52 % 128 * 95% 4,560
203 ¥ R =&H| 3,000 5,000 A 2,000
03 Al =X H 2 =X Y| 3,000 5,000 A 2,000
OBAHAY RFA 3,000,000& 3,000
307 QI2t0| & 9,700 9,700 0
01 2L 2= bl 9,700 9,700 0]
oflgza 29 7,200
OB5KMI0l & =ol& X 2HIH XI&
1,000& = 6,500 6,500
O%= 300,000& 300
oArRE 400, 000& 400
osclxzsa 249 2,500
O%= 1,500, 000& 1,500
O 1,000, 000& 1,000
405 XtabF S| 2,540 0 2,540
01 JHMY 2 EF S HI 2,540 0 2,540
(OR:PAINE===FSP] 1,540,000& = 1CH 1,540
© WZ 1 (500L 0l 4) 1,000,000 = 1CH 1,000
BAHARY 143,279 112,491 30,788
201 2ot 2 Y| 117,279 112,491 4,788
01 At 22l ] 37,410 30,027 7,383
OLIAMNIBE ZEHEY 6,688
OoraA 4,389
-t 220,000 * 3&F * 53] * 95% 3,135
==l 330,000& * 4 * 95% 1,254
(OFNE=E] 220,000 * 1& * 78 * 95% 1,463
Oolekzte| 213 It 220,000& * 4= * 95% 836
ORIAANIRE SAEX 959




SM: HERAL
=

B AYEA
Crel: EAOBAA JlU RS (ol @)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
ograa 21,000& * 262t A = 95% 519
(OFSE=3-] 21,000& = 162FA = 95% 320
O<oeratel 25t 21,0008 * 62FA = 95% 120
OSHNSE 1,770& = 3004 = 128 = 95% 606
oW &2l 2,304
(O)-FaEN 33,0003 = 200  12& * 95% 753
O82dX A 30,0003 » 2HA + 128 * 95% 684
(@)--FaFSE=Fn
38,000 = 20HA * 128 = 95% 867
O3JI8&J| &2t
45,000& = 9O * 128 * 95% 4,617
OARZIZEINI0 Ut === 19,936
ORZHEY =2 4,200
-BAN 95,000& * 204 * 128 2,280
-2z A 80,000& = 2JH 4 + 123 1,920
OHJIgHdel === 9,640
-Z2E84HJl= HMel 8,640
AL 600,000& = 1HA = 128 7,200
- E2AX L 30,000& * 2JH 4 * 12& 720
A=A 30,0008 « 200 A « 123 720
-H ==X Zl 250,000& = 43| 1,000
O&Jlotdze e 2 4,416
-BAXN 96,000 * 2 A = 128 2,304
-BaAdza 88,000& * 2JH A + 12& 2,112
Otdt=HMelAldze a2 (%)
140,000 » 104 « 123 1,680
OEE88 HMel ==2 250,000& * 23 500
O=28 28I ===
300,000& = 24 AL = 33 1,800
02 2524l 79,869 82,464 A 2,595
o0z22= & HMA 20,664
odIIe2 1,700,000& = 12& 20,400
O eI 2= 22,000& ~ 123 264
OXNHERXBI(EE NSXHH S E&) 40,400
O& X 2,700,000& =« 8CH 21,600
OsEx 4,900,000& * 1CH 4,900
Osgxt 6,500,000& = 1CH 6,500
Ozt xt 4,300,000& + 1CH 4,300
O+=x 3,100,000 = 1CH 3,100
OF A E R X 4,925
OEAHXN A 2,420
-1540I5H(&8 =) 3,135& * 352m * 1JHA 1,104
204 0l3H(Z0l) 3,748& * 351m * 1JHA 1,316




SN HRZAA
HE: AYSH
Crel: EAOBAA JlU RS CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OgHd= A 2,505
-25E0IoH(201) 4,267& * 361m » 1JHA 1,541
-20E0lok(otA)  4,818& + 200m » 1JH A 964
OA&&EHl Sl 7,880
Od)] KA+ 60,0002  38CH 2,280
OFEAM AMEHH SX2+ 100,0008 * 165 1,600
OFAN ZZANE FNES 4,000,000& 4,000
0=z &Hl |l 6,000,000 6,000
405 TtHakH S| 26,000 0 26,000
01 AL EFH S 26,000 0 26,000
O&E K= AL 5,500,000& =« 2CH 11,000
OLE=S 1,500,000 * 1CH 1,500
OHIO2EZHH 3,500,000& = 1CH 3,500
OF M AHIEtDI 1,000,000& * 1CH 1,000
OATHARIS) 300,000& = 30CH 9,000
EAXNLA2E 179,550 167,205 12,345
201 2Bt | 20,550 21,975 A1,425
01 At 22l 2,250 3,675 A1,425
OMEES 200,000 = 20H2A * 23] * 95% 760
OZeEHEUY 220,000& * 28 * 2 » 95% 836
OHWAHLFTD 2EIIEX
144,000 * 200 A& = 95% 274
Ogol EHXA stz 29 380
OAR2E (A E 48)
100,000& * 45 = 95% 380
02 =224l 18,300 18,300 0
03323 % HA 18,300
Oo&IIe3 730,000& * 20 A » 128 17,520
O4st==23(€0l)
25,0003 * 1A + 123 300
OoRdgsa 20,000& * 202 = 128 480
307 21201 A 144,000 142,500 1,500
01 22724l 144,000 142,500 1,500
ool 5,000
ogeta =z 2,500
e 2,000,000& 2,000
223 500,000& 500
ogtgaz 2,500
-%4S 2,000,000& 2,000
-A2F 500,000& 500
OZ (A ZAHMAX ) 139,000
ogetd =z 133,500




SA: NRASAL
=X
[T

HE: ALSZ
Crel: EAOBAA JlU RS CERED
- _ _ RE]
S - BB () - HEAY - BES Ol At o %@i HRE2
-4 = 130,000,000 130,000
-A82F 3,500,000& 3,500
osttx 2 5,500
i 4,000,000 4,000
-ABPE 1,500,000 1,500
401 AlEHIZL £ 0HY| 15,000 1,730 13,270
01 Al&H| 15,000 1,730 13,270
OSEl2l E EHHIZ2AH(EO0]) 15,000,000& 15,000
BAHANZARY 33,896 34,434 A 538
201 et 16,696 17,234 A 538
01 AP 2t 2] H| 3,466 3,382 84
OMNRES 200,000& * 204 = 23] * 95% 760
OZZIHEH 220,000& * 2& x 20 A * 95% 836
Os=BAHiNEA HIIEF SEH|
100,000 * 204 * 95% 190
OBAT2L 23 FAHLY
30,000 * 149¥ » 2J0 A = 23] 1,680
02 B232%H| 10,780 10,852 NT2
02322 % HA 10,080
OFEIIe=2 400,000 * 20HA + 12& 9,600
Outsta=E = (otA)
20,000 « 1A « 12€ 240
Os4ddss 10,0008 * 2004 * 128 240
OXSEHA 100,000& = 204 & 200
OHIMMUASEH 250,000 * 200 A 500
03 HAI2 HHI 2,450 3,000 A 550
oHU=IZZ ) 29 2,450
OLAE 1,650
-3 0| 50,000 * 1004 = 153] 750
-ot& (Hel XY)
60,000 * 1JH4A + 153] 900
OZz e 29| 400,0009 * 200 A 800
301 et M= 1,200 1,200 0
12 JIEtE2 A= 1,200 1,200 0
OBAHAE A 2HEAH S5
50,000 = 2 A = 12&€ 1,200
307 QI2t0| & 16,000 16,000 0
o1 s R=tl 16,000 16,000 0
O%= 7,000,000& = 2JH A&~ 14,000
oLrRE 1,000,000& * 20 A 2,000
Bxig M2 B4 W= 480 480 0
=) 144
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el

A2 S AIE Jet =

SN FH-SA(EN) - MBAY - BES

0l &t o

=

i
2m

Al

336

= M

480

144
336

480

01 At2 2t 2l bl

2+u=H|

240,000 * 23

f

Al

480

480

144
336

480

T
1Y
=
b
S
T
Y
o
1
P}
0

F

Al

10,315

3,013
7,302

10,966

A 651

101 Q124 H]

H

Al

10,315

3,013
7,302

10,966

A 651

) 10,045,000

10,045,000& = 1.65%
10,045,000& = 1.03%

= i

10,315
10,045

3,013
7,032
270

166
104

10,966

A 651

O
2
i
Iz
S
10
f
x
=5
>
él_l:
rx
=
1)

= Hn

47,540
31,693
7,923
7,924

682,900

A 635,360

405 At&tE =HI

= 0N W

47,540
31,693
7,923
7,924

682,900

A 635,360

O3 FdlA

oxdd= =40l

5,000,000

*
=

4,500,000&

>*
=

32,600,000&

*
=

1,000, 000&

*
=

= M W = N H = MW

Rl

47,540
47,540
5,000
3,333
833
834
4,500
3,000
750
750
32,600
21,733
5,433
5,434

1,000

667
167

682,900

A 635,360




SA: NRASAL
=X
[T

M AYEW
Crel: EAOBAA JlU RS (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 166
OXtsE A 1,800,000 * 1CH 1,800
= 1,200
< 300
Al 300
OXRSAUFHMSAHA(FOITE L)
1,320,000 = 1CH 1,320
= 880
< 220
Al 220
ORSHUFHMSAH (ot Z &)
1,320,000 = 1CH 1,320
= 880
< 220
Al 220
BFANEIERY 2T 91,221 0 91,221
201 et 10,000 0 10,000
02 2324l 10,000 0 10,000
OA&ZH ®Xdl 10,000
OBZANYQUYA ZANL SNLS
10,000,000 * 1JH 2 10,000
401 A& HI K 201 I 81,221 0 81,221
01 A& Bl 81,221 0 81,221
OFFANYLYYH ALS FIITFY
4,000,000& = 23l 8,000
OSA(2AR) & SAb 29,776,000& * 1002 29,776
OHE SHEZDH L M2I2 YLTA
14,515,000& = 1004 14,515
OXiot+= 23 e 28,930,000& * 1JH A 28,930
ME & AAXID| 1,127,952 925,087 202,865
J| 518,113
= 119,438
Al 490,401
ARIAZ S 109,795 109,523 272
101 @124l 109,795 109,523 272
04 JI2ZtHZ22 s+ 109,795 109,523 272
(©pNIEEIDN; 109,795
ool 290,000& = 1% = 262 = 12& 90,480
C4EE JI122E3 9,825
-AH2AEE 90,480,000& * 3.335% 3,018
B3I RLEE 3,018,000& * 10.25% 310
-=20AHZ 90,480,000& * 4.5% 4,072
-IEEE 90,480,000& * 1.65% 1,493
—MIHEE 90,480,000& * 1.03% 932
OZFEFItHI 200,000& = 1¥ « 23] 400




SN HRZAA
HE: AYSH
S ME & A2 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=XNEQAUE 300,000& * 1¥ 300
O&l &= 290,000& =« 30 8,700
o1l =l 90,000& * 1¥ 90
2 I A AL 340,600 279,680 60,920
J| 170,300
< 51,090
Al 119,210
201 Let24E] 2,000 2,000 0
J| 1,000
< 300
Al 700
01 At 22l 2,000 2,000 0
ocos&E=s ¢ = 2,000,000& 2,000
J| 1,000
< 300
Al 700
308 MtXIEHSOIH 338,600 277,680 60,920
J| 169,300
< 50,790
Al 118,510
1132 SoHUHSI A ALS HI 338,600 277,680 60,920
O & &l 338,600,000 338,600
J| 169,300
< 50,790
Al 118,510
20N H2HA 40,000 40,250 A 250
J| 32,000
< 2,400
Al 5,600
308 XXM SO0 A 40,000 40,250 A 250
J| 32,000
< 2,400
Al 5,600
N 3JN2SHUe3AEAE A 40,000 40,250 A 250
©OF=FS).| 40,000,000& 40,000
J| 32,000
< 2,400
Al 5,600
2EX AZHIXA 196,740 91,120 105,620
J| 98,370
< 29,511
Al 68,859
307 21201 A 196,740 91,120 105,620
J| 98,370
< 29,511
Al 68,859
01 222l 196,740 91,120 105,620




SA: HNRAEAL
g AHsd
Sl ME = ALK Q)
% 5 o d
SH B (3A) - HRAY - BES Ol &k o %@i e
PEEIEECRE 196,740,000 196,740
J| 98,370
[ 29,511
Al 68,859
WEP-EEEYY 68,554 68,554 0
Il 34,277
Al 34,277
202 04 Hl 500 500 0
Il 250
Al 250
01 ZUod bl 500 500 0
OXISAE AL ZE AL O 500,000€! 500
J| 250
Al 250
307 QI2t01 & 68,054 68,054 0
J| 34,027
Al 34,027
05 gIzte et 2 68,054 68,054 0
OXISAE A2 E A 68,054,0002! 68,054
J| 34,027
Al 34,027
XIoiAE SSALS ALY 247,846 223,489 24,357
Il 120,957
= 24,191
Al 102,698
101 Q121 50,614 21,537 29,077
9 22,341
= 4,468
Al 23,805
04 JIZRZEREES 50,614 21,537 29,077
OSEALZTAIY 2015 (2Y) 50,614
OQIAH 76,9609 * 262 * 222 44,022
Il 22,011
= 4,402
Al 17,609
od=2o NS 240,0008! * 2% 480
J| 240
< 48
Al 192
Ou = 90,0002 * 2% 180
Il 90
= 18
Al 72
O4RE J2eY2 4,782
—AABE 44,022,0009! * 3.335% 1,469
—SHIRUTE 1,469,0009 * 10.25% 151
-=2olz 44,022,0002! * 4.5% 1,981




SN HRZAA
HE: AYSH
S ME & A2 (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
-1ESE 44,022,000& * 1.65% 727
-MHEE 44,022,000& = 1.03% 454
OZFEFItHI 600
-G &AL 200,000& = 1H « 23| 400
—XI Dt A4 At 200,000& » 1H 200
O=XNXEQE 550
- 2A 300,000& » 1H 300
—XI Dt A At 250,000& » 1H 250
201 et 66,572 63,300 3,272
| 33,286
= 6,657
Al 26,629
01 At 22l 47,440 31,100 16,340
OHLMHEAMH ALY 2,000& = 10& = 55004 11,000
| 5,500
< 1,100
Al 4,400
ORLEBAHAL 1,100& = 10& = 1,0000H 11,000
J| 5,500
< 1,100
Al 4,400
odzgaza HeE2elAtd
2,200% = 53 * 1,0004 11,000
J| 5,500
< 1,100
Al 4,400
OXFAE S & THE ALY
2,000& = 1& = 50004 1,000
| 500
< 100
Al 400
Oty AZZIIAY 2teldl
900,000& = 12& 10,800
J| 5,400
= 1,080
Al 4,320
OS2 W=EE HLINOIE AIEZ
220,000& = 12& 2,640
| 1,320
< 264
Al 1,056
02 3323l 3,732 0 3,732
OSULSIMNTE HHES PCAHER
70,0003 = 4CH » 12& 3,360
| 1,680
< 336
Al 1,344
ORERIB(SIAE) 4,000& = 934 372
| 186




SA HRABAA
Bu: AYET
Sl ME & AL (B9 ®R)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
== 37
Al 149
03 A2 H H| 15,400 32,200 A 16,800
OAHLME AN A 50,000& =* 362 1,800
J| 900
o= 180
Al 720
OALIEHEE o2l AFY 350,000 = 63 2,100
J| 1,050
< 210
Al 840
ORXEAHAAY 250,000 = 163l 4,000
J| 2,000
o= 400
Al 1,600
OSEHLASI A ZHC 1,500,000& * 53] 7,500
J| 3,750
== 750
Al 3,000
301 et ™M= 2,600 500 2,100
J| 1,300
< 260
Al 1,040
09 HAIAHI X2 600 500 100
OSEAHLASAANYE T2 9 600,000 600
J| 300
o= 60
Al 240
12 JIEt2 &= 2,000 0 2,000
OABQIEN A= 10,0008 * 200%™ 2,000
J| 1,000
[ 200
Al 800
307 QI2t0| ™ 128,060 134,152 AN6,092
J| 64,030
= 12,806
Al 51,224
o1 s R=dl 128,060 134,152 N6,092
ORL LAY A2 2,750,000& = 43| 11,000
Jl 5,500
o= 1,100
Al 4,400
O E2HEE HEL2AEAY 222
1,000,000& = 43| 4,000
J| 2,000
& 400
Al 1,600
OXEAMNISTA HEAY 42 L ADE
2,000& * 25 * 75004 3,000




2N
X ZH -
L= B

el

RELEEIPS
AAz
ME &K H2 X9
M-S (3) - HEAY - BAS il
Pl 1,500
== 300
Al 1,200
OYUAE HAH L H2AM
5,000& * 2& * 1,000™ 10,000
J| 5,000
== 1,000
Al 4,000
OFVBAA BEAE
72,000& = 115¥ x 128 99,360
J| 49,680
& 9,936
Al 39,744
OEASHAANY ADE 70,000& * 10 700
J| 350
o= 70
Al 280
NS BAHAAIY 25AHd 22 I3 WAL 1,960
J| 980
Al 980
UBLE AH| 1,960
J| 980
Al 980
01 AR 22l ] 1,960
OFE0HE = ZHH| 1,960,000& = 1H 1,960
J| 980
Al 980
NEAMI B S HINJAHA 122,457
J| 61,229
= 12,246
Al 48,982
B2 A Y| 72,457
D] 36,229
= 7,246
Al 28,982
01 At 22l bl 70,200
OEEZ2 ¢ usil= 30,200,000& 30,200
J| 15,100
& 3,020
Al 12,080
o=2dZ22ldY 29 1,000& = 105 * 1,000 10,000
J| 5,000
= 1,000
Al 4,000
o=2dHsaaAaAxH 25,000, 000& 25,000
J| 12,500
o= 2,500
Al 10,000
O29dZBA JIES 50,000& * 100K 5,000




SA HRABAA
Bu: AYET
Helr Mg &5 A2 X310 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Jl 2,500
< 500
Al 2,000
02 =224l 857 300 557
O3dXNE2 HH2E 150,000& * 29 300
| 150
< 30
Al 120
O s 5,000& * 60A 300
J| 150
< 30
Al 120
oORUR= 2,570& » 100 257
| 129
< 26
Al 102
03 A2 S HI 1,400 1,400 0
Oz3dus T2 ZAtHl 50,0008 * 283l 1,400
J| 700
< 140
Al 560
301 LEEXZ 10,000 10,000 0
J| 5,000
S 1,000
Al 4,000
12 JIEtE4 S 10,000 10,000 0
=S80 NE" 2EE
50,000& = 28 = 100 10,000
J| 5,000
< 1,000
Al 4,000
307 glz2tol & 40,000 40,000 0
J| 20,000
= 4,000
Al 16,000
01 222724l 40,000 40,000 0
O=2¢Zeld 2 (SHEZH, A28)
40,000& = 1,000H 40,000
J| 20,000
< 4,000
Al 16,000
Zggae MA 2= 3,650,226 3,588,240 61,986
= 211,998
J| 1,522,388
= 439,126
Al 1,476,714
LAEHS ALY 112,849 109,845 3,004
101 @144 dl 35,429 34,855 574




SA HRABAA
Bu: AYET
S Zggae A 25 (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
04 JI2ZtH 22 XNHEE =+ 35,429 34,855 574
oYY As JI2tHZ22 X 35,429
(@)siFals] 75,9503 * 2% x 262 » 8F 31,596
O4HEE D2 8g2 3,433
-HAEE 31,596,000& * 3.335% 1,054
-3 UYEE= 1,054,000& = 10.25% 109
-=01H=3 31,596,000& ~ 4.5% 1,422
-182E 31,596,000& * 1.65% 522
-MHES 31,596,000& * 1.03% 326
Og &=yl 200,000& * 29 400
201 Bt A bl 2,400 2,400 0
02 3524t 2,400 2,400 0
oA A=EH AU 400,000& = 604 2,400
206 M = Hl 75,020 72,590 2,430
01 M= bl 75,020 72,590 2,430
OYHAAE (ELRELAESH S 55) 66,000
(@)=Fa 30,000 = 12lEf = 1,000H 30,000
OXsgac 30,000& = 12l * 6004 18,000
(@F=2DNR=g= 30,000& = 12I& = 6004 18,000
oYg g HMES 720
o&g=s 90,000& * 4H 360
O&A X)) 15,000& » 4H 60
OCetX™ 3t 60,000& * 44 240
O2 X 15,000& * 49 60
OXISII0HN 2E8Y HessS
4,000& * 2= * 11,0004 8,000
O=A) HEsS &=NE 246 30,0003 * 1094 300
23yl 413,865 433,297 N 19,432
101 2124 d| 4,832 4,769 63
04 JIZtHIZ2E2NHEE 4,832 4,769 63
OQEZ2AUX WYEE JI2ZtHI2Z2 X 4,832
oot 80,5203 » 49 « 15 4,832
201 LEt2 Y| 50,998 50,706 292
01 At 22/ 20,948 21,756 808
oNLEEA 29 8,930
OU&HE AHa S ol
60 * 90,000& * 95% 5,130
ONES s2=
1,000& * 2= * 2,000 * 95% 3,800
OZAA 2EMMAZXI(UPS) BHE 2l WA
1,100,000& = 1CH * 95% 1,045




FN NEAEA R
M ALEZ
el ywae M 2E (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OXItZHelX =5 HES8S AN
1,000& = 3,0000H * 95% 2,850
CELPNE-3- 4,285
OZus=S(H=ZH S)
1,000& * 2& * 1,0000f » 95% 1,900
OZ#ZIIIa47) &HE L 2y
170,000& * 300 = 95% 485
OMEa BE o ZE
1,000,000& * 23 * 95% 1,900
OYANHA 2Y 988
OYNMTZLY Y442
20,0003 * 49H = 43| = 95% 304
O2IHIZ (2N S 48)
15,000& * 48 + 128 = 95% 684
oZZguUE 2229 2,850
OLgY oy E22(ALE HEUI BH
el g) 950
-E2E2(2EY 8)
1,000& = 1,0000H * 95% 950
ouolIzuy =223 1,900
-EEE2(LYEE S 28)
1,000& = 28 = 1,0000H * 95% 1,900
02 =24l 30,050 28,950 1,100
O AHHPACSAH =X 2=t
1,200,000& =* 43| 4,800
OFXR2H 25,250
OQUEFAUT HYES AUHE S
500& = 48,000A 24,000
O HEFZ HEES 2AUHE
500& = 2,500A 1,250
307 glz2tol & 351,415 373,222 A 21,807
01 22272l 334,015 355,822 A 21,807
oHgZEsd 24 302,135
ONgdEE AZ(BE2LY S 63)
39,450,000& 39,450
OX XM QIS ATH At 261,090
-QI SR BHAIYH| 9,000& = 10,0004 90,000
“oZ20|2 B3 A"l
19,010& * 9,000 171,090
OULEE J2& 2Z2E(FAI| S)
1,595,000& 1,595
odAMA 29I 31,560
S ZA 90,0003 * 80 A 7,200
Ogel& At 90,000& » 1002 A 9,000
OdE (U=, o= S)2A
90,0003 » 100 A 9,000




SN HRZAA
MY AYEX
el Awae M 2 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OHY (Y&, Z0ICIoh) A
13,0008 * 250 3,250
OAg 2t Z A 555,000& * 2&8tA 1,110
O3S &AM 250,000& » 8 A 2,000
OEMELY 2 320
Oglae = It 40,0003 » 8¢ 320
05 BIZHRIE 3 17,400 17,400 0
Ostdlg 2tel 17,400,000& = 1004 17,400
405 RHoHE S HI 6,620 4,600 2,020
01 AL EZFH S 6,620 4,600 2,020
OWLHEE I (99m 0l Gt) 2,000,000& = 1CH 2,000
oNgdEE M 210,000& = 2CH 420
OARH(ARTE) 300,000& * 6CH 1,800
OHM(MRIE) 200,000& =« 6CH 1,200
O0lsA AEHE 200,000& * 6CH 1,200
st e X 2el X & 10,396 11,772 A 1,376
= 5,198
< 5,198
301 LEtEA S 10,396 11,772 A 1,376
= 5,198
< 5,198
01 MEIBEE 263 10,396 11,772 A 1,376
OgtddZ I+ MAHH XF  2,079,200& = 5H 10,396
= 5,198
< 5,198
OOl & 0 66,662 62,538 4,124
J| 33,331
< 9,991
Al 23,340
307 21201 A 66,662 62,538 4,124
J| 33,331
< 9,991
Al 23,340
01 222l 66,662 62,538 4,124
OHIV/AIDS &l Z bl 56,124,000& 56,124
J| 28,062
< 8,410
Al 19,652
OHIV & EAI20 S 3,818,000 3,818
J| 1,909
< 573
Al 1,336
odiiHzEyd d& 2 I X 6,720,000 6,720
J| 3,360
< 1,008




SM: A

Ha: 1Y

gy e A 25 (&2 &)
CEB Y (3H) - NEAY - B2 ol &k o8 ﬁlf& HD=2
Al 2,352
=2 ItU 2 E S A A 2,577,622 2,780,688 A 203,066
J| 1,288,811
== 386,643
Al 902, 168
307 QI2t0| & 2,577,622 2,780,688 A 203,066
J| 1,288,811
= 386,643
Al 902, 168
01 e =t 2,577,622 2,780,688 A 203,066
OO0l HEES 1,468,000, 000& 1,468,000
J| 734,000
& 220,200
Al 513,800
Ol - FX3ANM L =SSt AZIAH I}
(G:R=lS =S 290,000, 000& 290,000
J| 145,000
o= 43,500
Al 101,500
O13MH OHelo] AAERAX HEES
31,600,000& 31,600
J| 15,800
o= 4,740
Al 11,060
OUYNE AERAUI HEES 10,400,000& 10,400
J| 5,200
= 1,560
Al 3,640
Ol HLES 772,780,000 772,780
J| 386,390
o= 115,917
Al 270,473
OBEH 2t FAHD|Z2E WY AY 4,842 ,000& 4,842
J| 2,421
== 726
Al 1,695
=2 YA 64,642 79,042 A 14,400
J| 32,321
= 9,234
Al 23,087
201 Bt 4,656 4,152 504
Jl 2,328
= 698
Al 1,630
01 At 22l bl 4,656 4,152 504
OEEZE(2ElI4# S 28)
1,000& = 2= x 2,3284 4,656
J| 2,328
== 698




SA HRABAA
M ALEZ
chel: ZEgael M 25 (sl &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 1,630
202 O4dl 3,090 3,090 0
Il 1,545
Al 1,545
01 = LH 4 Hi 3,090 3,090 0
OaxFcttel EE X Ml 3,090,000& 3,090
Il 1,545
Al 1,545
301 LEtEA S 1,000 1,000 0
J| 500
< 150
Al 350
01 MEIBEE 263 1,000 1,000 0
OY3THA MAH XA 1,000,000& * 1&H 1,000
J| 500
S 150
Al 350
307 glz2tol & 49,896 64,800 A 14,904
J| 24,948
< 7,486
Al 17,462
01 222l 49,896 47,600 2,296
Ogoyd =X HAH 2,334,000& 2,334
J| 1,167
< 351
Al 816
ogAIIET LAH X 1,000, 000& 1,000
Jl| 500
= 150
Al 350
OZHNIAEZ S AAAHNS 2 & HF=2H
Zg e 24,430,000 24,430
J| 12,215
S 3,665
Al 8,550
OZ ST A E ST 13,700, 000& 13,700
J| 6,850
= 2,055
Al 4,795
OZHAZTIIAM & F=2IHBIANS S
8,432,000& 8,432
J| 4,216
< 1,265
Al 2,951
308 XtXIEHH SOl A 6,000 6,000 0
J| 3,000
< 900
Al 2,100




FN NEAEA R
M ALEZ
S ZgEgae A 2= (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
113/ 2SoHUHSZ&EAEALS I 6,000 6,000 0
OYARBENANY DL
600,000& =« 103l 6,000
J| 3,000
< 900
Al 2,100
DA LAY (ZEHAGAHE) 35,680 0 35,680
J| 17,840
< 17,840
307 glz2tol & 35,680 0 35,680
J| 17,840
< 17,840
02 IZHE M AHE X 35,680 0 35,680
Oz J| 2 ZHEk ek
35,680,000 = 1H » 10HA 35,680
J| 17,840
< 17,840
S J|2 & ALY 106,950 70,658 36,292
Jl| 106,950
307 gl2tol & 106,950 70,658 36,292
J| 106,950
02 It M AHE L 106,950 70,658 36,292
ooz 7|2 ZHgk ek
35,650,000 = 3H » 1A 106,950
J| 106,950
S ZdEY Z=2ZAMAH 29 38,000 32,000 6,000
J| 38,000
307 21201 A 38,000 32,000 6,000
J| 38,000
05 BIZERIE 3 38,000 32,000 6,000
O=&EJ ol - 22l
28,000,000& * 1JH A 28,000
J| 28,000
OFHEH g - 22|
10,000,000& * 1JH 2 10,000
J| 10,000
ozauEAgY H2ZAMA 22 (294) 310 200 110
J| 310
202 44l 310 200 110
J| 310
01 = LH 4 1l 310 200 110
oz d HE22 Al &30H 310,000 310
J| 310
ME=He OSZAMA 2E XS 3,840 3,840 0
J| 1,920
< 1,920




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 3,840 3,840 0
J| 1,920
< 1,920
02 PIZHEHAHE L 3,840 3,840 0
OdM=Hce OSZAMA 2SX&
3,840,000 * 1002 3,840
J| 1,920
< 1,920
M2H2 ZEHSQY 1Y YL 2 A 3,000 3,000 0
J| 1,500
< 1,500
201 Yete2 | 3,000 3,000 0
J| 1,500
< 1,500
01 At 22l 3,000 3,000 0
OdM=H UHIHESEH Le=SHl
3,000,000 3,000
J| 1,500
< 1,500
MSH ZSUSQ HAUSED PHA 2,810 1,360 1,450
J| 1,405
Al 1,405
405 XtAHE SHI 2,810 1,360 1,450
J| 1,405
Al 1,405
01 AR ESFH S 2,810 1,360 1,450
Olevel A B35 1,350,000& * 14 1,350
J| 675
Al 675
OfR&J| 280,000& = 204 560
J| 280
Al 280
OdEA 450,000& = 2CH 900
J| 450
Al 450
DRLHY Al YA X 13,600 0 13,600
2 6,800
= 6,800
307 glz2+ol & 13,600 0 13,600
= 6,800
< 6,800
01 222724l 13,600 0 13,600
OR2LH9 Al 3 X 24l 13,600,000& 13,600
= 6,800
< 6,800
527 ¥g Beld 2129y N 200,000 0 200,000




SN HRZAA
HE: AYSH
el Awae M 2 CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 200,000
402 RI2EX20| A 200,000 0 200,000
= 200,000
02 QI EAILEZ (01X E) 200,000 0 200,000
O38J g Seld 129 A
100,000,000& * 2JH £ 200,000
= 200,000
EHAAE 5 ¥ A2 =4 4,963,630 4,024,899 938,731
= 759,500
J| 880,221
< 207,814
Al 3,116,095
gEAL2elArS 75,420 75,420 0
201 £B-2dH| 3,420 3,420 0
01 At 22/l 3,420 3,420 0
os=2es 1,000& = 3,6000H * 95% 3,420
307 glz2+ol & 72,000 72,000 0
01 222724l 72,000 72,000 0
OA%E L ARE(IAH S 1568)
20,000& = 3,6004H 72,000
2tstXF KN AR (THOFY) 10,555 10,555 0
J| 5,278
= 1,583
Al 3,694
201 24l 2,600 2,600 0
J| 1,300
= 390
Al 910
01 At 2t 2l 2,000 2,000 0
oMt 22= 1,000& * 2,000 2,000
J| 1,000
< 300
Al 700
03 &AL S HI 600 600 0
OMItY AEx=2 29 300,000& * 23 600
J| 300
< 90
Al 210
301 LBEAZ 200 200 0
J| 100
< 30
Al 70
09 HALAHIX RS 200 200 0
OMIIY N2 2¢Y 100,000& * 23] 200
J| 100




SN HE2AA
HE: AYSH

Sl 2HUANB 25 U AV T4 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 30
Al 70
307 glz2tol & 7,755 7,755 0
J| 3,878
< 1,163
Al 2,714
01 =2 =4l 7,755 7,755 0
oA A A2F 7,755,000& 7,755
J| 3,878
= 1,163
Al 2,714
SIAUGXLEER 2=H XI& 182,000 377,228 A 195,228
J| 91,000
< 27,300
Al 63,700
308 XXM SOIA 182,000 377,228 A 195,228
J| 91,000
< 27,300
Al 63,700
11 3I2SO0HetE & X 2 AL I 182,000 377,228 A 195,228
OsHE &I 2= Hl 182,000, 000& 182,000
J| 91,000
< 27,300
Al 63,700
da A 35,260 35,742 A 482
201 £B-2%| 35,020 35,502 A 482
01 At 22l 35,020 35,502 A 482
ONEEAMAL=THEEH MR SUHE
1,980,000& = 12&8 23,760
OBMALAO(HA)FIRE AA L 4 25
130,000& *» 69 = 12% 9,360
OFAMAZAMY OIS Ael A =AMX £ 28
=3 1,000& = 28 ~ 1,0000H * 95% 1,900
301 LB AF 240 240 0
09 SALLHIX A S 240 240 0
OFMAZ YA (MANRRES 2 28 7¢
20,000& = 123l 240
FATHEAE 29 1,731,974 1,627,584 104,390
307 21201 A 1,731,974 1,627,584 104,390
10 ALSISXAIEEE2GHEX 1,731,974 0 1,731,974
OFZATHEAE 2HHI(4ML)
1,731,974,000& 1,731,974
FAAL=XNHEH 2 184,224 182,440 1,784
J| 92,112
< 36,845




SN HRZAA
HE: AYSH
BFHANS 25 L AABHE T4 SREED
= _ — d =
SN BA(SA) - MRAY - BES e 2
Al 55,267
307 glz2tol & 184,224 182,440 1,784
J| 92,112
< 36,845
Al 55,267
05 RIZHRIEt 3 184,224 182,440 1,784
OHMALSNHE 2
184,224,000& * 1JH 2 184,224
J| 92,112
< 36,845
Al 55,267
MALEXNHE =S 108,972 107,940 1,032
J| 54,486
< 21,794
Al 32,692
307 glz2tol & 108,972 107,940 1,032
J| 54,486
= 21,794
Al 32,692
05 RIZHRIEF 3 108,972 107,940 1,032
OFAMALSTHE 0lAsE
36,324,000& * 3¥ 108,972
J| 54,486
< 21,794
Al 32,692
OtsdAYE ZAUEAAZ 52,294 51,970 324
Jl| 26,147
= 26,147
307 glz2tol & 52,294 51,970 324
J| 26,147
< 26,147
05 RIZHRI & 3 52,294 51,970 324
O0lsEAYE FAEAAMY
52,294,000& * 1JH A 52,294
J| 26,147
< 26,147
Ang L FAUALSTAGE(EX) 61,106 61,106 0
J| 30,553
< 9,166
Al 21,387
307 glz2tol & 61,106 61,106 0
J| 30,553
< 9,166
Al 21,387
05 RIZIRIE 3 61,106 61,106 0
o223l 61,106,000& * 1JH 4 61,106
J| 30,553
< 9,166




SA HRABAA
M ALSA
Sl 2HUANB 25 U AV T4 CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 21,387
aogy o HAALSTAS (XA 25,000 25,000 0
307 gl2tol & 25,000 25,000 0
05 BIZHRI & 3 25,000 25,000 0
o=l 25,000,000 = 10024 25,000
SSEEN Mz 2e2H XA 25,000 25,000 0
< 7,500
Al 17,500
307 212+0] & 25,000 25,000 0
= 7,500
Al 17,500
05 RIZHRI &3 25,000 25,000 0
o=ss3ak Nz XA
25,000,000& * 1JH A 25,000
< 7,500
Al 17,500
et SsMHY Xizgd A3 20,000 23,000 A 3,000
< 6,000
Al 14,000
307 212+0| & 20,000 23,000 A3,000
= 6,000
Al 14,000
05 RIZHRIE 3 20,000 23,000 A 3,000
ON&LEX 2828 X=zH XA
20,000,000& * 1JH =2 20,000
< 6,000
Al 14,000
NS Ats FaAME WERT 5 4,000 4,000 0
< 1,200
Al 2,800
307 glz2tol & 4,000 4,000 0
< 1,200
Al 2,800
05 RIZHRI & 3 4,000 4,000 0
OXZALE X0 WERD *=
4,000,000& = 10H 2 4,000
< 1,200
Al 2,800
FUAHISXNEEH S SAL dLHMAH X2 12,000 12,000 0
< 3,600
Al 8,400
307 ©12+0I & 12,000 12,000 0
< 3,600
Al 8,400
05 RIZIRI & 3 12,000 12,000 0




2N
X ZH -
L= B

el

SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
OBNAJ=NAH S BAK AL Nd
100,000& = 10¥ » 12& 12,000
== 3,600
Al 8,400
HAEE XSH KNI AFS 19,000 0 19,000
= 9,500
= 3,800
Al 5,700
307 QI2t0| & 19,000 0 19,000
= 9,500
= 3,800
Al 5,700
05 QIZtR &2 19,000 0 19,000
O&™AEE X2H| K& AtY
19,000,000 * 1JH A 19,000
= 9,500
= 3,800
Al 5,700
Ot e 2SS XA 590,758 609,510 N 18,752
J| 472,606
= 23,631
Al 94,521
201 Yete2 | 409,758 377,683 32,075
D] 327,806
= 16,391
Al 65,561
01 At 22l bl 329,911 295,336 34,575
OEHEIAA =& 1,372,000 = 1 » 128 16,464
J| 13,171
== 659
Al 2,634
OB3FA MIAXTMEBIN =E
100,000 = 2 200
J| 160
= 8
Al 32
0329 & =Y 2,000
OXNYAISEAA 3o &AM =&
100,000& * 8Y = 23| 1,600
J| 1,280
& 64
Al 256
OXMHBZ2FAANY Atdllsl o &4 ¢
100,000& = 49H 400
J| 320
= 16
Al 64
O Il =24 90,0008 * 23H 2,070
J| 1,656




SA HRABAA
Bu: AYET
CHelr ARHANE PE U AABY =4 (el @2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
< 83
Al 331
ode=+I 22l 32,9003 = 304 » 12& 1,185
J| 948
= 48
Al 189
O3J18&FJ| 2eltl 32,6503 * 6CH » 128 2,351
| 1,881
= 94
Al 376
ool 2eldl 23,9003 = 2CH = 12& 574
| 459
= 23
Al 92
OHALAEY =& 1,380,000& » 1H » 1228 16,560
| 13,248
= 662
Al 2,650
OUSE N WO +22
583,130& * 10 » 108 5,832
| 4,666
= 233
Al 933
OXIHeta dle 2dtHs ¥ 22l
2,640,000& ~ 12& 31,680
| 25,344
< 1,267
Al 5,069
ORUTRABH === 110,000& * 12& 1,320
J| 1,056
= 53
Al 211
OXIDHCHA HEH ALY & HI 230,475
OXis=E2el & =JFIAY
40,000,000& 40,000
| 32,000
< 1,600
Al 6,400
OXIOHAAINA L ol 2 2e| At
34,011,000 34,011
| 27,208
< 1,361
Al 5,442
OXloHetalote 292 5,000,000 = 20 A& 10,000
J| 8,000
< 400
Al 1,600
OXMesHeEde & HESXAMY
26,464,000 26,464
J| 21,171
< 1,058




SA: NRASAL
HE: AYSH
JRHANE 25 L ABBH T4
SN BB (HA) - MM - BES 0l &t o il
Al 4,235
OXlHetadye 20 & 82 120,000,000 120,000
J| 96,000
< 4,800
Al 19,200
OXIOHeta dIE 22l 1,600,000& = 128 19,200
J| 15,360
=) 768
Al 3,072
02 =224l 39,847
OXNAMME SHRI(HNSH)
500& * 46,000 23,000
J| 18,400
=) 920
Al 3,680
o1V ¥ oY 23 53,900&  12& 647
J| 518
< 26
Al 103
OXeg =Xt 200,000& = 1CH = 108 2,000
J| 1,600
=) 80
Al 320
OXIHetAHE 2223 S
1,000,000& = 12& 12,000
J| 9,600
S 480
Al 1,920
OA&ZH KX 1,700
O&Hl |Xl 1,000,000& 1,000
J| 800
=) 40
Al 160
Ode)| XYl 70,000& = 10CH 700
J| 560
< 28
Al 112
Oz HFWA & =2l 2= 500,000 500
J| 400
< 20
Al 80
03 &Ar2 ZHl 40,000
Oous, Ty ¢ #HHA 2
25,000,000& 25,000
J| 20,000
=) 1,000
Al 4,000
OXfetaiE 24 15,000,000& 15,000
J| 12,000
< 600




SA HRABAA
M ALEZ
S QS FANSE 5 L AHLEHH X4 (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
Al 2,400
202 04 d| 27,600 28,800 A 1,200
Dl 22,080
== 1,104
Al 4,416
01 =LH 4 B 27,600 28,800 A 1,200
oxNYR EI oftl
100,000& = 23Y¥ * 12& 27,600
Dl 22,080
== 1,104
Al 4,416
301 dEtE M= 9,400 20,000 A 10,600
Dl 7,520
< 376
Al 1,504
09 #HAIAHI X & 2 9,400 20,000 A 10,600
OnS, Z2IY U HHY 2% S
7,400,000 7,400
Jl 5,920
< 296
Al 1,184
OXlDfCtAIDIE 29 1,000,000 * 2J0 2 2,000
J| 1,600
= 80
Al 320
307 212t0| & 144,000 157,100 A 13,100
Dl 115,200
& 5,760
Al 23,040
01 9 =2<LR=H| 144,000 156,600 A 12,600
OXEx FAMss N
35,000 * 200 * 128 84,000
J| 67,200
o= 3,360
Al 13,440
OUE L =8 A2E 30,000, 000& 30,000
Dl 24,000
& 1,200
Al 4,800
OXIOHZDNIZER HUAAH 150,000 = 200H 30,000
J| 24,000
o= 1,200
Al 4,800
XOHXI 222 H X ([ bBl) 112,838 97,484 15,354
Dl 56,419
== 16,926
Al 39,493
308 XX SHHSOIA 112,838 97,484 15,354
Dl 56,419




SA HRABAA
Bu: AYET
Sl CIRFGNS 7S Y AYHE T4 (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 16,926
Al 39,493
N 3JN2SUHUSBAHAE AR 112,838 97,484 15,354
O2HMHl X& 112,838,000& 112,838
J| 56,419
< 16,926
Al 39,493
XNHeel 225A XA 2,025 2,700 AB75
J| 1,620
= 81
Al 324
201 et 225 300 AT5
J| 180
< 9
Al 36
01 At 22l 225 300 AT5
odE EX HIE S 225,000& 225
J| 180
= 9
Al 36
301 LEAZ 1,800 2,400 A 600
J| 1,440
< 72
Al 288
12 JIEBtE4 3 1,800 2,400 A 600
O=del g3l 200,000& = 1% = 9& 1,800
J| 1,440
< 72
Al 288
XOHER SsSHEXH 101,204 98,824 2,380
< 20,241
Al 80,963
307 21201 A 101,204 98,824 2,380
< 20,241
Al 80,963
01 2L 72| 101,204 98,824 2,380
OXIHeX =SsHEXA 101,204,000& 101,204
< 20,241
Al 80,963
XA A XA (IR WE T2 29H) 10,000 10,000 0
< 2,000
Al 8,000
201 £B-2% | 2,400 3,500 A 1,100
< 480
Al 1,920
01 At 22/l 2,400 3,500 A 1,100




SN HRZAA
HE: AYSH
Sl 2HUANB 25 U AV T4 (B9 ®R)
SN HH-S(BN) - MBAY - B il HlnE2
oeXMEEz Y g2 ¥ WEINE S
2,400,000 2,400
= 480
Al 1,920
301 LEHZ 7,600 6,500 1,100
< 1,520
Al 6,080
09 HALAHIX A S 200 300 A 100
ooXMaZz Nl 24 200,000& 200
= 40
Al 160
12 JIEtE 43 7,400 6,200 1,200
©2J14 X201 &=Xl&Hl 7,400,000 7,400
< 1,480
Al 5,920
XNHOtM RAHA S3AY X& 100,000 100,000 0
| 50,000
Al 50,000
307 glz2tol & 100,000 100,000 0
J| 50,000
Al 50,000
02 PIZHEHAHEE 100,000 100,000 0
OZEHILYEH Xei 2208 23X
100,000,000& * 1JH 2 100,000
| 50,000
Al 50,000
HRUEA XMHIIsSsELAY ,500,000 0 1,500,000
= 750,000
Al 750,000
402 RI2EX20| ,500,000 0 1,500,000
= 750,000
Al 750,000
02 QI 2 A EZ (O THE) ,500,000 0 1,500,000
OFFANEBRAEH XMIIsE2Z
1,500,000,000& * 1JH 2 ,500,000
= 750,000
Al 750,000
I Ot 22U A 2E 933,235 934,737 A 1,502
= 103,750
s 331,870
J| 114,618
= 106,422
Al 276,575
ANHEHAY 10,830 24,876 A 14,046
201 2et24d] 10,830 11,400 A570
01 At 22l 10,830 11,400 A570




2N

HE: 2AY
2 240 0fs2 AZAS2E (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZXNEHAY E2235 M= 2 7 10,830
OYUEXNSXHEXN 5 EE2XN ME
1,000& * 950% * 2& * 95% 1,805
OZNEAMY 2225 7Y
2,500 * 9500 * 4& * 95% 9,025
FAEME LASL oZH X 3,000 2,500 500
J| 1,500
< 750
Al 750
308 XXM SOIA 3,000 2,500 500
J| 1,500
< 750
Al 750
M 3I2SOoHstE & X 2 E A I 3,000 2,500 500
OFAELUE HAEL OZHIXA
3,000,000& 3,000
J| 1,500
< 750
Al 750
A2 AMOE A2 22| AF KT & A 474,100 470,935 3,165
as 331,870
Al 142,230
308 XXM SO A 474,100 470,935 3,165
as 331,870
Al 142,230
M3/ 2S00HetE & XS A I 474,100 470,935 3,165
OLtZ Ao Az 2telAt XI¥  474,100,000& 474,100
s 331,870
Al 142,230
et HZZ A et S EEHI 1,888 1,888 0
J| 1,510
< 113
Al 265
201 et 1,888 1,888 0
J| 1,510
< 113
Al 265
01 At 22/l 1,888 1,888 0
OAH EEZHI 1,888,000 1,888
J| 1,510
< 113
Al 265
R0t AZH A 3,900 4,500 A 600
J| 3,120
< 234
Al 546
308 XX EHSOIA 3,900 4,500 A 600




SA HRABAA
Bu: AYET
2 240 0fs2 AZAS2E (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Jl 3,120
= 234
Al 546
N 3JN2SHUe3&EAE A 3,900 4,500 A 600
©OF=FS). 39,000& = 100H 3,900
J| 3,120
< 234
Al 546
R0 LLHOM FLZAH K& 2,336 2,250 86
J| 1,869
< 140
Al 327
307 21201 A 2,336 2,250 86
J| 1,869
< 140
Al 327
01 222l 2,336 2,250 86
OZ R0t L0 LA A 2,336,000 2,336
J| 1,869
< 140
Al 327
SEA CHAIOI &2 AH & & ot2tel 26,880 21,000 5,880
J| 13,440
< 6,720
Al 6,720
307 glz2tol & 26,880 21,000 5,880
J| 13,440
< 6,720
Al 6,720
01 2222l 26,880 21,000 5,880
OdEd A0l Z AL & Eotatel
26,880,000 26,880
J| 13,440
< 6,720
Al 6,720
Y HEIA E BFI XA 2,000 5,250 N 3,250
Jl| 1,000
= 500
Al 500
307 glz2tol & 2,000 5,250 A 3,250
J| 1,000
< 500
Al 500
01 22272l 2,000 5,250 A 3,250
OZAHl & 23] X 2,000,000& 2,000
J| 1,000
< 500
Al 500




N

2N

X{ XH -
S =

Y >x
0x 0¥ {0
BN H

o A T

FS2l A A

2

o

ton

- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
Ol=0F & A&H0I40F 2 =H| 23,040 26,000 AN2,960
J| 11,520
& 5,760
Al 5,760
307 2Iz2to| & 23,040 26,000 AN 2,960
Dl 11,520
= 5,760
Al 5,760
01 sd =l 23,040 26,000 N 2,960
O0l=s0t & & H0IA40F 22|
23,040,000 23,040
J| 11,520
& 5,760
Al 5,760
HESNEHEF 1,718 1,718 0
J| 859
& 430
Al 429
308 AHXIEHSOIA 1,718 1,718 0
J| 859
o 430
Al 429
11 BIZ2SUHUSHEAEAE AT Y| 1,718 1,718 0
OE=2NHEBAHSH 1,718,000& 1,718
J| 859
&< 430
Al 429
U221 137,600 116,000 21,600
J| 68,800
& 34,400
Al 34,400
307 giztol A 137,600 116,000 21,600
J| 68,800
& 34,400
Al 34,400
o1 s R=tl 137,600 116,000 21,600
oHAdELE Al=Hl X 137,600,000 137,600
J| 68,800
o= 34,400
Al 34,400
UEw SHerx 2H XA 16,443 16,490 ~47
201 et d| 903 950 N4AT
01 AFR 2t 2| bl 903 950 N4T
OEE=2 HZ 2,0008 * 47500 * 95% 903
307 2iz2to| A 15,540 15,540 0
01 e R=Hl 15,540 15,540 0




2N
X ZH -
L= B

el

Off &t 24

=

i
2m

oHYRER X ZH X

1,036,000& = 15%H

15,540

kJ
40
og
0°
rx
Hr
10
al
o
el
10

Jl

H

Al

22,000
11,000
5,500
5,500

24,000

A2,000

307 21201 &

Jl

m

Al

22,000
11,000
5,500
5,500

24,000

A2,000

dl
A

S Ol

<
© o
[T
{0 yo
w4
al

YA o=2Hl X

22,000,000&

Il

22,000

22,000
11,000
5,500
5,500

24,000

A2,000

MNASE JHA ZME2s N

At

= Hn

207,500
103,750
51,875
51,875

157,500

50,000

308 NHXIEHHM SO0l E

= N W

207,500
103,750
51,875
51,875

157,500

50,000

S JIMAH, =M

27 N2

207,500,000&

= W

207,500

207,500
103,750
51,875
51,875

157,500

50,000

10

1
e
[al]

Bl

37,795
7,400
3,600

26,795

142,700

A 104,905

2,195

1,900

295

2,195

1,900

295

2,195

1,805

390

1,900

295

Il

2l

2,000

1,400
600

2,000

307 21201 &

Jl

H

2,000

1,400
600

2,000




2N
X ZH -
L= B

el

NeEEAA
AL S&
ojotzte|

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 22272l 2,000 2,000 0
o0OssA=2ANE 2,000,000 = 1MIE 2,000
J| 1,400
< 600
AsHEEZHI ESKL 12,000 6,000 6,000
J| 6,000
< 3,000
Al 3,000
405 TtatF S| 12,000 6,000 6,000
J| 6,000
< 3,000
Al 3,000
01 AL EFFH S 12,000 6,000 6,000
oOsaEFEAI 3,000,000& = 4CH 12,000
J| 6,000
S 3,000
Al 3,000
OIS HAX Otz U= A0 B2 8,100 10,800 22,700
405 XHobF S HI 8,100 10,800 22,700
01 THatH EZFH S 8,100 10,800 22,700
oOnsSaEFEAHDI 2,700,000& =+ 3CH 8,100
24 AAsdHEFESAI A 13,500 0 13,500
405 TtobFH S| 13,500 0 13,500
01 AL EZFH S 13,500 0 13,500
OXsaESAHI 2,700,000& =+ 5CH 13,500
HH2IZH(MREAD) 2,118,128 2,005,952 112,176
= 107,051
J| 414,080
< 66,493
Al 1,530,504
el 2 1,957,866 1,861,051 96,815
= 107,051
J| 414,080
< 66,493
Al 1,370,242
oI 24| 1,055,195 958,668 96,527
101 @124 dl 1,055,195 958,668 96,527
01 2= 187,333 170,246 17,087
oY= 187,333
OxnI2+Y
10,8413 = 48%H = 30AI2t = 123 187,333
02 JIEt A2+ 50,660 49,671 989
O LEHA DI I 3,378




SN HRBAL
HE: HW2 AR (MARAL)
chel: ol 2y (S &2)
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
Ozdloe+g
14,0723 = 1 = 20A12t = 128 3,378
O3SE2H2AM 47,282
OfIgZ2f+% 40,0003 * 4% « 123 1,920
OdzegsdaA= 900,000& » 4% = 12& 43,200
OxZH2ZR+E 2,162
-t 13,0223 = 22 = 4A12t « 128 1,251
-4 9,482& * 2F x 4Al2+ ~ 12 911
03 RN AHAAN2Z2NHE =+ 817,202 738,751 78,451
Ol 653,073
OJES(LYBLH) 189,819
2152 (0t32) 3,261,740 * 1 « 128 39, 141
-208=(Jt=2)  3,205,610& * 1 « 128 38,468
-85 =(Jt=) 2,534,410  1¥ » 123 30,413
-6 = (Jt=) 2,422,370 * 2H * 123 58,137
-1ss(0=) 1,971,610& + 1¥ « 123 23,660
OI&E=g 19,920
—Bi = Xt 40,0003 = 218 » 123 10,080
- 20,000% = 59 « 128 1,200
e PNIE 20,0008 * 6% = 128 1,440
-=MAH 60,000& = 5% = 12& 3,600
e PNIE 100,000& = 3F = 12& 3,600
o254 1,057,716,400& * 5% 52,886
(OFSF=E=; 50,000% = 34F + 12& 20,400
oflg=¢ 30,000 = 34% = 128 12,240
OzH2R4Y
18,133% = 348 « 15A12F ~ 128 110,974
O= &l 140,000& » 3498 = 12E 57,120
Og 2 =Fotdl 87,211,170& * 50% * 23l 87,212
OHItE A&t 97,620% * 34F x 20 66,382
oddn= 800,000& = 34¢& 27,200
OB +uSHl(2tSAH) 40,0003 = 19 760
OLS % HASFO
40,000% * 34%H « 63 8,160
O4UEE JI22E3(34Y) 161,069
(OFalg=h= 1,483,542,630& * 3.335% 49,477
OFIILEE 49,477,000 = 10.25% 5,072
O=8dg= 1,483,542,630& * 4.5% 66,760
ONEEE 1,483,542,630& * 1.65% 24,479
OtTHESH 1,483,542,630& * 1.03% 15,281
o=t 90,000& = 344 3,060
ANZZ0 YA (2X) 71,360 52,560 18,800
Il 35,680




2N
X ZH -
L= B

el

T

o g¢ x
J¥ 0x {0
==
>
0
H
v
>

M0 MO HI

02 02 ¥
=5

SA - FE - BI(EA) - NRAY - By 0l b il 2
Al 35,680
101 1244 dl 69,312 51,535 17,777
J| 34,656
Al 34,656
02 JIEt& B == 29,311 13,294 16,017
OAZHEAIM SR JIE=s
1,747,330 * 1¥ « 123 20,968
J| 10,484
Al 10,484
OAIZEERYINH SR dHa03
1,864,000& « 1 1,864
J| 932
Al 932
o=g 6,479
tAHEE =S 1,680
-t < Xt 40,0008 * 19¥8 ~ 128 480
J| 240
Al 240
=& 20,000& = 1% = 128 240
J| 120
Al 120
Al PUJE] 20,000 = 1% = 128 240
J| 120
Al 120
-=MAH 60,000& = 1% = 128 720
J| 360
Al 360
ONAgaRLT
8,798% * 18 » 20AI2+ » 12& 2,112
J| 1,056
Al 1,056
OSSR 83,870% « 198 « 128 1,007
J| 504
Al 503
Og A=Al 140,000& = 198 = 128 1,680
J| 840
Al 840
03 RIAHAZ 2B+ 40,001 38,241 1,760
OZHMH2ASAH(1Y) 40,001
(@eilal. ] 40,001,000& 40,001
J| 20,000
Al 20,001
204 AR HH| 2,048 1,025 1,023
J| 1,024
Al 1,024
02 a2 =4 1,523 762 761
OAZHEAIIH (9= & E)
145,0008 * 1E = 35A12H/40A12F « 12& 1,523




2N
X ZH -
L= B
el

T

o
x
o
H

o g¢ x
J¥ 0x {0
M0 MO HI

02 02 ¥
=5

S
b

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Jl 762
Al 761
03 EZ YA 525 263 262
OANLHEADIH Y BSH (S EES)
50,000& = 12 = 35AI2t/40A12F = 12& 525
| 262
Al 263
Xt e 2SR (EX) 232,649 239,363 NG, 714
J| 186,120
< 9,305
Al 37,224
101 14 Hl 218,316 225,030 A6, 714
J| 174,653
= 8,732
Al 34,931
02 JIEFRE & 218,316 225,030 NB,714
OANAEEHAIIN SR J2=
1,886,910& = 7« 128 158,501
J| 126,801
= 6,340
Al 25,360
OANUHEHAIM SR S0 (7Y)
17,127,000& 17,127
J| 13,702
< 685
Al 2,740
o=¢ 27,429
OMNMHEESY 5,040
TS 40,0002 * 4% « 128 1,920
J| 1,536
< 77
Al 307
ol PNE 20,0003 = 4H =123 960
J| 768
< 38
Al 154
-= M A 60,0003 = 3¥ » 123 2,160
J| 1,728
= 86
Al 346
ONMZAZRY
8,798 * 7H * 20AI2t » 123 14,781
J| 11,824
< 592
Al 2,365
OExARH 90,5704 * 78 « 128 7,608
J| 6,087
& 304
Al 1,217




SN HRZAA
HE: HYRIFH (MASAL)
Sl ol ) CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O It &I 6,490 * 7H * 77AI2} 3,499
J| 2,799
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J| 2,940
< 147
Al 588
KNS A SSALSTIAE(EX) 216,660 234,200 A 17,540
J| 108,330
< 21,666
Al 86,664
101 @144 dl 216,660 234,200 A17,540
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OJl=gR=8dHl (JI&dHl)
500,000& = 559 = 90% 24,750
O=ZHI(J1E&HI)
8,000& ~ 55 * 8% » 12& » 90% 38,016
02 =224l 13,080 11,070 2,010
oOfERI 13,080
Og et 350& = 1,000 » 12& 4,200
OsJl 2,450 * 2008 » 12& 5,880
OFXRE(LAESE) 5008 » 5008 » 128 3,000
202 Odl 64,416 65,165 AT49
01 = LHA YI 38,016 45,965 AT,949
OJIEZ
20,0003 » 44 x 62 * 1228 * 60% 38,016
02 M0 26,400 19,200 7,200
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200,000& = 3H » 123 7,200
O8NS YE2Ad =
200,000& = 4H « 123 9,600
OO0t BEHA=S R MH A
200,000& = 4H « 123 9,600
203 ¥ S =&l 20,000 19,380 620
01 J22E 2= 6,000 6,000 0
OJIEH (42) 6,000,000& 6,000
02 3 Jtatg =2 3,560 3,240 320
OHAINMARF=A 40,0003 = 89¢H 3,560
04 FENSEHR=LH| 10,440 10, 140 300
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< 1,141,313
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S AU A2 S 148,764 156,540 ANT,776
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C4EE JI22E3 9,825
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-1EEE 90,480,000& * 1.65% 1,493
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O& &=z 290,000 * 30 8,700
o1l =l 90,000& » 1H 90
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ORI AAL O 44 1,387
OSfMdl #&2 703 * 8,000 = 95% 532
OXsx SAEAM 100& * 6,000 » 95% 570
ONsx HLHA 50& * 6,000 = 95% 285
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200,000& * 3N E * 95% 570
OEt= 10,000& * 30& * 95% 285
(ORTE==3s]l 2,509
O 9 A 90,000& * 7H *x 95% 599
Otlad 2 ANz 90,000& » 17H = 95% 1,454
OFHJAZH 120,000& * 2% * 23| * 95% 456
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OSETEAH2A JIE=EH|
20,000& * 6Y » 52 * 128 » 95% 6,840
203 R =&lY| 3,000 3,000 0
03 Al =X H 2 =X Y| 3,000 3,000 0
OBAHAMY LRF=X 3,000,000 3,000
307 212t01 & 16,120 16,460 A 340
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oxR2x 29 120
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O4st+=23 2,200,008 * 122 26,400
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Odl&gAI| FX 22/l 1,819
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O KXl 1,500,000& * 1CH 1,500
OFAIAE S X 23,204
OB2AL(22) 102015
2,408 * 2,049m" * 1J0HA 4,934
OBAA(g2) 204016t
3,748 x 2,701m » 10{ 4 10,124
(OF-FaPNE~ 5,308
-10E@ 0l ot 2,408 * 568m * 30 4,104
-15& 0l ot 3,135& * 384m * 1JH 1,204
O)=FaFSE=F 2,838
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02z &Hl |l 6,000
OEAda 6,000,000& 6,000
401 A& HI L 2T 127,675 81,885 45,790
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o222 M2(EEE22d0L )
2,500,000& 2,500
OE=4 W) Ma & =d(E8224A &
2) 6,800,000& 6,800
omILY - oA HA & Hu(Ed22HA L
ZU KA -d24) 40,000& = 171 6,840
O2=+ - 4ty =8FZ Fd|
2,000,000& =« 2CH 4,000
O3TANEE HFEFH HA(EEEAHL E2)
4,500,000& = 1A + 23 9,000
OsSEYEHAa H2 ST HIAESE $x
x| 6,501,000  10H A 6,501
OEHYEAHA H2t SLI(HMHAE) WHBA
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B3I LEE 726,000& = 10.25% 75
=8z 21,766,000& * 4.5% 980
-1E8E 21,766,000& * 1.65% 360
“MTHEE 21,766,000& * 1.03% 225
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@S ESE= 69,760 * 30 2,093
201 -4l 86,409 93,126 NG, 717
01 AFR 22l 22,795 21,148 1,647
OMEES 100,000& * 128 * 95% 1,140
OEUW IHECIXN 220,000& * 65 * 23| = 95% 2,508
odz=+I U=
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OARZEINB0 Uet === 10,399
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250,000& = 1HA = 128 3,000
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OA&ZH Rl 8,350
A2l SN+ 1,300,000& * 6CH 7,800
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307 glz2+ol & 3,035 3,035 0
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01 At 22l 36,960 36,800 160
OEEFMAL=NLEH MR SUHE
3,080,000& * 1228 36,960
FAUTEANE 29 132,932 131,159 1,773
307 gl2tol & 132,932 131,159 1,773
10 ALl SXAIEEE2EH EX 132,932 0 132,932
OFAMTHEAIEY 28l 132,932,000& * 1JHA 132,932
FAAL=XNHEH 2 20,000 20,000 0
307 glz2tol & 20,000 20,000 0
05 RIZHRIE 3 20,000 20,000 0
OXtatole - BAALSIAY (AHHHl, SIS
g) 20,000,000& 20,000
A2 =NNEEH 29 184,224 182,440 1,784
J| 92,112
< 36,845
Al 55,267
307 gl2tol & 184,224 182,440 1,784
J| 92,112
< 36,845
Al 55,267
05 RIZERI & 3 184,224 182,440 1,784




SN sEEAA
M ALSE
Sl CIRFGNS 7S Y AYHE T4 CERED
5 - 4
S EH B (BH) - MBAY - BAS Ol At o ﬁ}lgﬁ HRE2
OZNAZ=NHE 2o
184,224,000 » 1JH A 184,224
J| 92,112
o=t 36,845
Al 55,267
HUAHLEXHEYH BES 254,268 179,900 74,368
J| 127,134
== 50,854
Al 76,280
307 2iz2to| A 254,268 179,900 74,368
J| 127,134
= 50,854
Al 76,280
05 QIZ2tREF 2 254,268 179,900 74,368
OFMALSTME oIASE
254,268,000& * 1JH A& 254,268
J| 127,134
& 50,854
Al 76,280
Ols - 4438 HAMEAHAY 52,294 51,970 324
J| 26,147
Al 26,147
307 2Iz2t0| & 52,294 51,970 324
D] 26,147
Al 26,147
05 QIZ2tR EF 2 52,294 51,970 324
O0IsSEAE HABAHAY
52,294,000 * 1= 52,294
J| 26,147
Al 26,147
LESEX Xs2eld XAE 25,000 25,000 0
= 7,500
Al 17,500
307 212t0| & 25,000 25,000 0
o= 7,500
Al 17,500
05 QIZ2tREF 2 25,000 25,000 0
OR=S=&X xig&eld N
25,000,000 * 1= 25,000
= 7,500
Al 17,500
TaSIET S2HY X2 N 26,000 23,000 3,000
= 7,800
Al 18,200
307 212t0| & 26,000 23,000 3,000
o=} 7,800
Al 18,200




2N
X ZH -
L= B

el

S=EEIPS
AL
ABHAUNE 75 Y AYHY X4

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

05

F
40
Jo
oy

a
S

©
>
1>
40
oo
>
00

sHEX=H X
26,000,000 = 10024

= M

26,000

26,000

7,800
18,200

23,000

KNS A2l tadey WERZD 75

= M

4,000

1,200
2,800

4,000

307 21201 &

H

Al

4,000

1,200
2,800

4,000

OXSGAte Mg WERRIA 25
4,000,000& = 1042

= M

4,000

4,000

1,200
2,800

4,000

N
>
Y
S
Ju
P
[z
m
on

SML MM K&

H

Al

14,400
4,320
10,080

12,000

2,400

307 21201 &

m

Al

14,400
4,320
10,080

12,000

2,400

Er
OQFUAL=SXNUEH S SAXNL MRIHLH X
14,400,000& * 108 £

= M

14,400

14,400

4,320
10,080

12,000

2,400

= N H

19,000
9,500
3,800

,700

o

19,000

307 glz2tol &

= N W

19,000
9,500
3,800
5,700

19,000

OFAMZEE XZH X At

19,000,000& = 100

= W

19,000

19,000
9,500
3,800
5,700

19,000

t

Al

558,038
446,430
22,321
89,287

593,913

A 35,875

y

387,038
309,630

388,071

A 1,033




2N EEEAL
Bu: AYET
Sl 2HUANB 25 U AV T4 CEEEED
S - MBS (BH) - NRAY - BAS ol &k o8 ﬁlf& HD=2
== 15,481
Al 61,927
01 At 22l ] 305,998 275,651 30,347
OE8EoAA = 1,372,000& = 14 » 12& 16,464
Jl 13,171
= 659
Al 2,634
O2Z2FA AMBIZAF EDN ¢
100,000& = 2A 200
J| 160
= 8
Al 32
039 A ¢ 1,400
OXN<YG A E2AXN 3o &EA =Y
100,000& * 23| x 5Y 1,000
J| 800
& 40
Al 160
OXNMHZESZEAAIE At o &4 ¢
100,000& = 4H 400
J| 320
& 16
Al 64
Ol =ul 90,000& = 21H4 1,890
D] 1,512
& 75
Al 303
od=240| &2l 33,000 = 304 ~ 12&€ 1,188
J| 950
& 48
Al 190
OZJ/&3D| &2yl 34,0008 * 304 = 12&€ 1,224
J| 979
& 49
Al 196
OFAEY =2 1,380,000& = 1 = 128 16,560
J| 13,248
& 662
Al 2,650
OgYRE U UH ==
760,000& * 1CH ~ 11 8,360
J| 6,688
= 334
Al 1,338
OXONHAME JdUE ¥ 22/
6,270,000 = 128 75,240
J| 60,192
& 3,010
Al 12,038
ORAMXIEH =2 111,000& = 12& 1,332
J| 1,066




2N EEEAL
M ALSA
CHelr ARHANE PE U AABY =4 (el @2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
< 53
Al 213
OXIOHQHAHIE Al 2 H| 170,140
Oxis=E2el ¥ 2IIHFIAMY
20, 140,000& 20,140
| 16,112
= 805
Al 3,223
OXIHA AN L ol g2l At
10,000, 000& 10,000
| 8,000
< 400
Al 1,600
OXIofetalots 29 5,000,000& * 204 10,000
| 8,000
< 400
Al 1,600
OXHEXaEe & JIIEXE A
10,000, 000& 10,000
| 8,000
< 400
Al 1,600
OXIMetyMEH 20 2 &2 120,000,000 120,000
| 96,000
< 4,800
Al 19,200
OXIOHCetAME 23l 1,000,000& * 128 12,000
| 9,600
< 480
Al 1,920
02 2322l 31,040 34,120 A 3,080
OXIMAAHE SR (MILH)
500& = 12,000A 6,000
| 4,800
< 240
Al 960
OTV & 2HUR= 45,000& = 12& 540
J| 432
= 22
Al 86
OXt& = Xl 200,000& = 304 = 10& 6,000
| 4,800
< 240
Al 960
OXHHAMME 3323 S
1,500,000& * 12& 18,000
| 14,400
< 720
Al 2,880
OZZOd HUHAL & =40 BE=z
500,000& 500




2N
X ZH -
L= B

el

1o 1y o
kU oy J@
PO HT

A4
bS]
ANE P L AP X4

A HE B (EH) - HRAY - BES il HREZ
p) 700
< 20
Al 80
03 A2 ZHl 50,000 78,300 A 28,300
Ous, Zz)dl & AH 22 30,000,000 30,000
J| 24,000
< 1,200
Al 4,800
OxigHetaOE 29 20,000,000& 20,000
J| 16,000
=) 800
Al 3,200
202 Oddl 25,200 26,400 A 1,200
J| 20,160
=) 1,008
Al 4,032
01 SLHOIYI 25,200 26,400 A1,200
OXMS S =&H0/Hl 100,000& * 21 ~ 128 25,200
J| 20,160
< 1,008
Al 4,032
301 LptR M3 12,600 12,000 600
J| 10,080
= 504
Al 2,016
09 #HALAHIXI& 3 12,000 12,000 0
Oous, T)H A BHL 2Y S
10,000,000& 10,000
J| 8,000
= 400
Al 1,600
OxigHetaOE 29 2,000,000 2,000
J| 1,600
=) 80
Al 320
12 JIEE 4= 600 0 600
ozZzEA HESXAY|
200,000& = 1 = 3& 600
J| 480
< 24
Al 96
307 21201 A 133,200 112,700 20,500
J| 106,560
=) 5,328
Al 21,312
01 22724l 133,200 112,200 21,000
OXIWET AMEE X
35,000& = 210 = 12E 88,200
J| 70,560




SN BERAL
Ha: AYSH
RGNS 75 L AVHH X4 (B9 ®R)

= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
< 3,528
Al 14,112
OAAz & A=2E A2E 30,000, 000& 30,000
J| 24,000
= 1,200
Al 4,800
OXIHEII A& HUAAH  150,000& * 100X 15,000
J| 12,000
< 600
Al 2,400
XIOHXIZ 28l XI& (A1) 121,463 104,936 16,527
J| 60,731
< 18,220
Al 42,512
308 AHAIEHHSOIA 121,463 104,936 16,527
J| 60,731
< 18,220
Al 42,512
113/ 2SoHUHeZSEEALS I 121,463 104,936 16,527
O Ml XI& 121,463,000& 121,463
J| 60,731
= 18,220
Al 42,512
XHeel 22=A XA 2,025 2,700 AB75
J| 1,620
< 81
Al 324
201 L2l 225 300 AT5
J| 180
< 9
Al 36
01 At 22l 225 300 AT5
odE EX HIE S 225,000 » 19H 225
J| 180
= 9
Al 36
301 EEEd = 1,800 2,400 A 600
J| 1,440
< 72
Al 288
12 JIEBHE4 = 1,800 2,400 A 600
O3s=de #sXEH|
200,000& = 1& = 9& 1,800
J| 1,440
= 72
Al 288
XHEX SEHE X 79,376 63,247 16,129
= 15,875




SN sEEAA
HE: AYSH
Sl 2HUANB 25 U AV T4 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 63,501
307 glz2tol & 79,376 63,247 16,129
< 15,875
Al 63,501
01 22724l 79,376 63,247 16,129
OXIOHEX SsSHEXH 79,376,000 79,376
< 15,875
Al 63,501
XoHeIAf X2 (XN MEZT208 29) 10,000 10,000 0
< 2,000
Al 8,000
201 et 2,400 3,500 A 1,100
< 480
Al 1,920
01 At 22l 2,400 3,500 A1,100
OoQXMEzEzd 2= & WSESAHE S
2,400,000& 2,400
= 480
Al 1,920
301 LA F 7,600 6,500 1,100
< 1,520
Al 6,080
09 &AL HIXI &3 200 300 A 100
CoXME =208 23 200,000 200
< 40
Al 160
12JE2d = 7,400 6,200 1,200
O©JILXI2I0l EsX Al 7,400,000& 7,400
< 1,480
Al 5,920
240 Otse HZAE2E 1,164,622 1,190,042 A 25,420
= 103,750
ras 422,380
J| 165,504
< 132,043
Al 340,945
SAEAAS 10,830 20,613 29,783
201 L2l 10,830 9,975 855
01 At 22l 10,830 9,975 855
OZXNEHAY & E4EA EENE MEH &
e 10,830
OLUETNSAEXN S EEXN ME
1,000& * 9508 * 28 » 95% 1,805
OZNEAMY 2225 2
2,500 * 95004 * 45 = 95% 9,025
FAEME JASL o FZH X 3,000 2,500 500




2N
X ZH -
L= B

el

sSoEAA
AYER
SED 0HS AL AE P

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Jl 1,500
< 750
Al 750
308 XXIEHH SOl 3,000 2,500 500
J| 1,500
< 750
Al 750
N 3JN2SUHUe3AHAE A 3,000 2,500 500
OFALHAER JASL ZHIXR
3,000,000& 3,000
J| 1,500
< 750
Al 750
ADAMOE A2 22| AP XTJ A 603,400 599,373 4,027
s 422,380
Al 181,020
308 XX EHSOIA 603,400 599,373 4,027
s 422,380
Al 181,020
113/ 2SHUHSZAEEALS I 603,400 599,373 4,027
ONI2AMOF AL 2| At XA
603,400,000 603,400
as 422,380
Al 181,020
xSt AL ot S EEHI 1,887 1,887 0
J| 1,510
S 113
Al 264
201 ¢et24] 1,887 1,887 0
J| 1,510
< 113
Al 264
01 At 2t 2l 1,887 1,887 0
OAMEZEEHI 1,887,000& 1,887
J| 1,510
= 113
Al 264
S0t A2H A 3,375 4,500 21,125
J| 2,700
< 202
Al 473
308 XtXIEHHSOIA 3,375 4,500 21,125
J| 2,700
= 202
Al 473
13 2SOHetE & X 2 E AL I 3,375 4,500 A1,125
od &l 3,375,000 3,375




2N EEEAL
Bu: AYET
e 240 Ots2 H2LAE RS (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Pl 2,700
& 202
Al 473
A0 LA LA AL XA 2,336 2,250 86
J| 1,869
= 140
Al 327
307 2Iz2t0| A 2,336 2,250 86
J| 1,869
o= 140
Al 327
01 sed =t 2,336 2,250 86
OYGR0F LA HLUAAH] 2,336,000 2,336
J| 1,869
=} 140
Al 327
HESE HAOIAMZE AN & &0ot2el 23,040 23,500 AN 460
J| 11,520
= 5,760
Al 5,760
307 QI2t0| & 23,040 23,500 AN 460
J| 11,520
& 5,760
Al 5,760
o1 szt 23,040 23,500 AN 460
ONMSHAIO|AFA AN & &H0F2 2l HI
23,040,000 23,040
J| 11,520
= 5,760
Al 5,760
HEE GEAAL Y BEFD|] N 2,000 5,250 A 3,250
J| 1,000
& 500
Al 500
307 212t01 & 2,000 5,250 N 3,250
J| 1,000
& 500
Al 500
o1 s R=tl 2,000 5,250 A 3,250
OZAHH & EXHD| X & 2,000,000& 2,000
J| 1,000
= 500
Al 500
Ol=s0F & A™AH0|A0F o 2H| 40,960 45,000 N4 ,040
J| 20,480
= 10,240
Al 10,240
307 212t0| & 40,960 45,000 A4 040




S EECLEEPS
Ha: ALSH
SRl DA OISO AAAE D

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Jl 20,480
< 10,240
Al 10,240
01 222724l 40,960 45,000 N 4,040
O0l=s0t & dd&0l40t 2= H XA
40,960,000& 40,960
J| 20,480
< 10,240
Al 10,240
SAEAAMY Ex0EH| 15,733 15,733 0
J| 7,866
< 3,934
Al 3,933
101 @144 Hl 15,733 15,733 0
J| 7,866
< 3,934
Al 3,933
04 JI2ZHHZ2XREES 15,733 15,733 0
ORXNEAAMY EXQEH|
15,733,000& * 1H 15,733
J| 7,866
< 3,934
Al 3,933
HEEZAEHAE 1,718 1,718 0
J| 859
< 429
Al 430
308 XX EHSOIA 1,718 1,718 0
J| 859
< 429
Al 430
N 33JN2SHUe3&RAE 1,718 1,718 0
OHEZEZXNEHEF 1,718,000 1,718
| 859
< 429
Al 430
HYRRIR 206,400 174,000 32,400
J| 103,200
< 51,600
Al 51,600
307 21201 A 206,400 174,000 32,400
J| 103,200
< 51,600
Al 51,600
01 92724l 206,400 174,000 32,400
oA Al=Hl X 206,400,000& 206,400
J| 103,200
= 51,600




SN EHBAL
HE: AYSH
2 240 0fs2 AZAS2E (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| Al 51,600
HYRL XIS HIX& A 16,443 16,490 NAT
201 €2l 903 950 N7
01 At 22/l 903 950 NAT
os=28 M= 2,000& = 47500 = 95% 903
307 glz2t0l & 15,540 15,540 0
01 922724l 15,540 15,540 0
odRE s FH X
1,036,000& * 159 15,540
DAgLaR o zH XA 26,000 24,000 2,000
J| 13,000
< 6,500
Al 6,500
307 glz2tol & 26,000 24,000 2,000
J| 13,000
< 6,500
Al 6,500
01 2222l 26,000 24,000 2,000
ONRAS LR ozH XA 26,000,000 26,000
J| 13,000
< 6,500
Al 6,500
HASEE JIMA ZME2s NEAMG 207,500 157,500 50,000
= 103,750
< 51,875
Al 51,875
308 XtXIEHH SOl A 207,500 157,500 50,000
= 103,750
< 51,875
Al 51,875
N 3IN2SHUEZARIAE ALY 207,500 157,500 50,000
OMASE JIMA, ZMES NI MY
207,500, 000& 207,500
= 103,750
< 51,875
Al 51,875
ol ot 53,610 97,103 A 43,493
J| 8,900
< 4,350
Al 40,360
2= 7,203 7,203 0
201 et 6,703 6,703 0
01 At 22l 5,653 5,653 0
OdHAM=s A4ENSH 2 5,653




SN sEEAA
HE: AYSH
Sl oot atel CERED
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o %E& HRE2
OdH-82 W= 2B
500 * 2,5000H * 95% 1,188
OdHAME I E22
2,000& * 1,0000H * 95% 1,900
OusExs &H ATE(HE &)
90,000 * 30JH * 95% 2,565
03 A2 G H| 1,050 1,050 0
OM4s HF=A A4 MHAM=s A 1,050
O A SEH 200,000 = 3™ 600
Ol A Jl & 50,000& * 1JH 50
OoZddiaE oLl tho 200,000& * 2CH 400
301 YetE NG 500 500 0
09 HAIAHI X & 2 500 500 0
OMN43 HF=A A4 MHAM= AWM 500
Ottt =d| 500,000& * 13| 500
ozJl& & N&&EA 2,407 1,900 507
201 2et2 Y| 2,407 1,900 507
01 AP 2t 2] H| 2,407 1,900 507
OHMAHOIES Y Al EE2
1,000 = 2,00004 * 95% 1,900
OEBE9AE £=HE £=HE M
41,000€ * 1300 * 95% 507
BAHAMMNEHSE 2 2,000 2,000 0
J| 1,400
= 600
307 giztol A 2,000 2,000 0
J| 1,400
& 600
o1 s R=tl 2,000 2,000 0
O0sS=s2A=HE 2,000,0008 ~ 1N E 2,000
J| 1,400
= 600
ANsSaHAE=E=A)| E2XH 15,000 9,000 6,000
J| 7,500
o= 3,750
Al 3,750
405 XHo&HF S HI 15,000 9,000 6,000
J| 7,500
o= 3,750
Al 3,750
01 XML 2 FF S| 15,000 9,000 6,000
OXNsA&=ZAH) 3,000,000 = 504 15,000
J| 7,500
& 3,750
Al 3,750




2N
X ZH -
L= B

el

ve

1oy ofon
NN Shin
ol HT

oAy

A - HE B9 (3A) - HRAY - BHYS Ol &+ o4 SSa HmEET
24 AAsdFESAI A 27,000 0 27,000
405 XHoHF S HI 27,000 0 27,000
01 HatH ESFH S 27,000 0 27,000
oOnsSaEFEAHDI 2,700,000& * 10CH 27,000
HH2IZH(ELE2AHAD) 2,178,839 2,100,825 78,014
= 71,370
J| 370,040
< 52,166
Al 1,685,263
ol 2 gl 1,983,963 1,906,571 77,392
= 71,370
J| 370,040
= 52,166
Al 1,490,387
ol i 1,232,656 1,156,592 76,064
101 @124 dl 1,232,656 1,156,592 76,064
01 2= 226,361 219,428 6,933
O 2 EHA 226,361
OznIR4Y
10,8413 = 58H = 30AI2t = 128 226,361
02 JIEtE B 79,231 83,088 A 3,857
OLBAIHM 3,378
Oxz2Zf=¢
14,0723 = 1H » 20AI2H « 123 3,378
ORI E 5,271
OxH2ZR=+E
10,9803 = 2% = 20A12t = 128 5,271
O3S EAHAM 70,582
OfIgz2f=+% 40,0002 * 6F * 123 2,880
Od=zgsdd=s 900,000& = 6H » 123 64,800
Oxz2Zf=E 2,902
-t 13,0228 = 198 * 4AI2H « 128 626
-=9 9,482 * 5  4AI2F x 128 2,276
B eIHA22TE S 927,064 854,076 72,988
ozeH 764,186
OJlz3(gezex) 304,588
213 & 3,597,040& » 1H » 12& 43,165
235 = 3,317,570& = 2% » 128 79,622
2088 3,205,610& = 1H » 128 38,468
653 2,422,370& » 1H 128 29,069
453 2,310,670& * 1¥ » 123 27,729
-2S el (J=2558)
2,366,500& * 1H » 123 28,398




2N
X ZH -
L= B

el

—EEEPY
YHS YA (B 2AL)
ol 2yl

SA - FE - BI(EA) - NRAY - By 0l b il 2
S8R ZAMOIE6ES)
2,422,370& « 2% » 128 58,137
O&E=g 22,560
—-Bi = Xt 40,000& = 192 = 128 9,120
-&% 20,000& = 10¥ = 12& 2,400
e PNE 20,0008 = 8% = 12& 1,920
-=MAH 60,000& = 11 = 128 7,920
e PNIE 100,000& = 1&¥ = 12 1,200
OF=E=F = 1,048,260,000& * 5% 52,413
O&d=+¥ 50,000& = 33% = 12& 19,800
OfIg=+=4g 30,000& = 33 = 128 11,880
OxnIRLY
18,5103 = 33% = 15A12t = 128 109,950
O= &l 140,000 * 33¥ * 123 55,440
Og 2 =Ftdl 87,359,000& * 50% * 23l 87,359
O¢ItE A&t 98,720 = 33% * 20¢ 65,156
Oz 800,000& = 33¢& 26,400
OB +1WSsHI(2ZS A 40,0003 » 18%Y 720
Ou=s & 22A=F0H
40,0002 * 33H » 13| » 68 7,920
C4liE" JI2RES 169,908
OHL=EE 1,472,861, 720& * 3.335% 49,120
OFILAEE 49,120,000& * 10.25% 5,035
O=8d= 1,472,861,720& * 4.5% 66,279
(ONE=3--5= 1,472,861,720& * 1.65% 24,303
OMHEH 1,472,861,7202 * 1.03% 15,171
o=l 2,970
O32A 90,000& = 33 2,970
NZZ0 A (2 E) 71,360 52,560 18,800
J| 35,680
Al 35,680
101 1A dl 69,312 51,5635 17,777
J| 34,656
Al 34,656
02 JIEt& 2 == 29,311 13,294 16,017
OANAEEHMEIH SR J=2=
1,747,330 ~ 18 » 123 20,968
J| 10,484
Al 10,484
OANZHEEHYIN SR 41403
1,864,000& ~ 1 1,864
J| 932
Al 932
O=g 6,479
OJ&E=¢ 1,680




2N
X ZH -
L= B

el

re o2 olon
J¥ 0 IR
M0 MO HI

02 02 ¥
=Y b

=S
0l0n
i
T
e
B>

S HB B (SH) - NRAMY - BAS il
-bif < Xt 40,000€ ~ 1H = 128 480
J| 240
Al 240
-ZHl = 20,000& * 1€ = 128 240
Dl 120
Al 120
o (PE] 20,000 * 1 = 12&€ 240
J| 120
Al 120
-= M XHH 60,000& * 1€ = 128 720
Jl 360
Al 360
ONZ2RLY
8,798& * 1Y = 20Al2t » 12& 2,112
Dl 1,056
Al 1,056
OSx&R2Y 83,870& » 1H x 128 1,007
Dl 504
Al 503
OFHZAH| 140,000 * 1¥9 = 128 1,680
Dl 840
Al 840
I Hs22NE 5 40,001 38,241 1,760
OZHN2ES A 40,001
Ool 2| 40,001,000&  1H 40,001
Dl 20,000
Al 20,001
NP LAY 2,048 1,025 1,023
Il 1,024
Al 1,024
A E | 1,523 762 761
OAZHEE R IR (924 L)
145,000& = 1¥ * 35/40A12F = 128 1,523
Dl 761
Al 762
EF3HR2AH 525 263 262
OANZAEHHAIIN HOIESH(BEER)
50,000& * 1Y = 35/40A12F = 12& 525
Dl 263
Al 262
MUE YT (2X) 219,187 207,330 11,857
Jl 175,350
= 8,768
Al 35,069
o124 | 204,854 192,997 11,857
Dl 163,884
= 8,195
Al 32,775




SN EHBAL
M HHSHAH (ELEAL)
& o 2d|
SA BB O () - MM - HES 0l &+ o4 il
02 JIEH A 2+ 204,854 192,997
OAZEEHAIH SRH J=23
1,806,000 » 7H 128 151,704
| 121,363
= 6,068
Al 24,273
O&tANZ(6Y) 13,541,400& 13,542
J| 10,834
< 542
Al 2,166
OE =4 24,707
Os=g 2,880
-t < Xt 40,000& * 3% = 128 1,440
| 1,152
< 58
Al 230
e PNIE 20,0003 = 29 » 12& 480
| 384
< 19
Al 77
1 PNIE 60,0003 = 18 » 123 720
| 576
< 29
Al 115
&4l 20,000 = 1% = 12&8 240
| 192
< 10
Al 38
OAlzteZ22+¢
8,798% * 7H  20AI12F » 123 14,781
J| 11,825
< 591
Al 2,365
OS4x2Ld 83,8702 * 7% * 128 7,046
| 5,637
= 282
Al 1,127
O I &l 5,826& * 7Y x 77AI2t 3,141
| 2,513
< 126
Al 502
OFHUZ A 140,000& = 7H » 12& 11,760
| 9,408
< 470
Al 1,882
204 X2 F H| 14,333 14,333
| 11,466
== 573
Al 2,294




SN BEEAL
MY #FSAAY (EUBAL)
chel: ol gyl CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
02 2g 2 Xl 10,658 14,333 AN3,675
OAZHEHAINH (9= &L, 35AI2H)
145,000% * 798 = 35/40A12t = 128 10,658
| 8,526
< 426
Al 1,706
03 EZ YA 3,675 0 3,675
OANZIEEHLIIN Y ESH(SSE])
50,000« 79 * 35/40A12t = 12& 3,675
| 2,940
< 147
Al 588
KNAAMNE SSHHLSIAMY(EX) 189,120 230,400 A 41,280
| 94,560
= 18,912
Al 75,648
101 @124 dl 189,120 230,400 A41,280
| 94,560
= 18,912
Al 75,648
03 RIAHAZ 2B+ 189,120 230,400 A41,280
OSEUHLETAY HE20H 189,120
Ol 1,950,000& » 8 » 12& 187,200
| 93,600
= 18,720
Al 74,880
Odzod W= 240,000 * 8Y 1,920
J| 960
< 192
Al 768
NAAMNSEN 2ARNIMEBIA(EX) 102,120 91,680 10,440
| 51,060
< 10,212
Al 40,848
101 1A Hl 102,120 91,680 10,440
| 51,060
< 10,212
Al 40,848
03 RIAHAAZZRHE > 102,120 91,680 10,440
O=H&EA & SHAMHA 102,120
Ol (4Y) 1,950,000& » 4% » 12& 93,600
| 46,800
< 9,360
Al 37,440
ooyl (1Y) 1,950,000& = 1H * 42 7,800
| 3,900
= 780
Al 3,120
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240,000 * 3H 720
360
72
Al 288
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2L FE S5 AAHI(EX) 26,780 26,544 236
Il 13,390
Al 13,390

101 @124l 26,780 26,544 236

Il 13,390
Al 13,390

03 RIHAZ 22 26,780 26,544 236
RS dE 28 2504 26,780
@eiFal.] 26,780,000& * 1H 26,780

J| 13,390
Al 13,390

HEHL2AL(BEX) 142,740 141,465 1,275
= 71,370
< 14,274
Al 57,096

101 1Al 142,740 141,465 1,275
= 71,370
& 14,274
Al 57,096
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142,740 141,465 1,275
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14,130
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AN EEEAL
M HER2GIU(ELEHL)
S I (29l 8)
5 - 4
A FB B (EN) - HRAY - BES 0l &t o il HImEET
OXRE(LAEESF) 500& = 8,000 4,000
202 oddl 84,864 90,298 A5,434
01 = LH 4 1l 44,064 59,098 A 15,034
OJI&Z&
20,000& » 51 = 62 * 128 * 60% 44,064
02 N 40,800 31,200 9,600
Ool%RYs XTHE £
200,000 = 3% = 12& 7,200
OSeNY YRR =&
200,000& = 108 128 24,000
OX0tIt=e EA= X AMH A
200,000 = 4% = 12& 9,600
203 YR =&l 13,000 14,900 A 1,900
02 A Jtatg =2 4,000 3,920 80
OFAIAL L FX Y| 4,000
OJl&EH 40,000& = 100 4,000
04 NI 9,000 10,980 A 1,980
ORN2EYE=AHI 9,000
Oo8zda 9,000
-30¢! Ol ot 400,000& = 12& 4,800
-30Q! =1t 5,000& = 70¥ » 128 4,200




—— A
N = 0] &F AF S & AN A
20218 = 20 A LES|H AYEHALA BEAHHEIMY ~ AP HA
SN HRABAL
Hm: AAEZ
Chelt BRAC B AIMIIYRE CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
HALG2AHAA 11,116,693 10,541,012 575,681
= 566, 103
g 497,805
Jl 3,697,395
= 1,104,952
Al 5,250,438
ALS A 9,214,233 8,708,103 506, 130
= 499,856
g 497,805
J| 3,305,611
& 1,048,530
Al 3,862,431
SBAHASAIEI| R HF 939,504 872,640 66,864
= 84,867
o 30,511
Al 824,126
N2 KA 235 130,482 131,130 A\ 648
101 e1214| 109,795 109,523 272
04 J|12tHIZ22NEES 109,795 109,523 272
© 9| At 109,795
OelAdl 290,000 = 1 * 26 = 12&€ 90,480
O4EgINaE2dg=2 9,825
-=200143 90,480,000& * 4.5% 4,072
-H2AEE 90,480,000& * 3.335% 3,018
- RUBE 3,018,000 = 10.25% 310
-118g88 90,480,000& * 1.65% 1,493
-MHES 90,480,000& * 1.03% 932
OY &SI 200,000€ « 1 « 23| 400
OEXEQAE 300,000& * 1Y€ = 13| 300
O& &2 290,000 = 30¢ 8,700
o1l sl 90,0008 = 1&H 90
201 Bt 3,447 4,007 A 560
01 AP 22| H| 3,447 4,007 A 560
OO0l A A Ol 4 276
O%HH RE 70€ * 2,0008 * 95% 133
OXsXHEAEA 100 * 1,000 * 95% 95
OXs XA EA 50& * 1,0008 =* 95% 48
OAZIE EF L2 40,0008 » 128 * 95% 456
OXZ & SASE HMUlA
7,7008 x 128 * 95% 88
O2cXsa, stta 29 422
ONE2H2E2 MH S
100,000 * 33 * 95% 285
OHEH EHI 72,000 * 23] * 95% 137




2N
X ZH -
L= B

el

HT Y ok

ALAL
e
NP

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
(@M=l 2,110
O 2l At 90,000& * 7 * 95% 599
O 2 XNZ A 90,000& * 152 * 95% 1,283
OHAAZHE 120,000& = 1% * 23| * 95% 228
ONMUZ2ES ==l 100,000 * 1¥ = 95% 95
202 04 b] 6,840 7,200 A 360
01 2LHOHI 6,840 7,200 A 360
OSESEAH2A JI=3H|
20,000 * 69 » 52 x 128 * 95% 6,840
203 ¥R =&AH| 3,000 3,000 0
03 A =X R =XIH| 3,000 3,000 0
OB2AAMNY gRFA 3,000,000 3,000
307 212t0| & 7,400 7,400 0
01 elz2d2=H| 7,400 7,400 0
oOkflga 29 3,200
OB65MI0l & ol 8 Xt 2XiBl K&
1,000& = 2,000 2,000
O%Z 600,000& 600
oAr2E 600,000& 600
otz s 29 3,000
Oo%= 2,200,000& 2,200
oArRE 800,000& 800
o=2cXzsd 29 1,200
O%E 840,000& 840
OL2E 360,000 360
BAHARY 345,019 357,414 N 12,395
101 @121l 88,268 84,722 3,546
04 JI2ZtH 22 XNEE % 88,268 84,722 3,546
OFAY F A 31,058
Ool21t] 80,520 » 1Y = 262 * 128 25,123
O4HEE J|&232<2 2,729
-=01H= 25,123,000& * 4.5% 1,131
-AH2LEE 25,123,000& * 3.335% 838
A YEE 838,000& * 10.25% 86
-1E25E 25,123,000& * 1.65% 415
“MTHEE 25,123,000& * 1.03% 259
OY &SIyl 200,000& = 1Y = 23 400
O=XNEIUE 300,000& * 1H 300
O& &3 80,520& * 30 2,416
Ol =] 90,000& * 13 90
O =22l Xl = At 25,932




2N
X ZH -
L= B

el

HAEBAA
AYER
2HO 2 AIE |

2

i

SA-3H-S(3AH) - MRAS - BES Off &t 24 %Ei HnE2
Ol 80,520% = 1% » 262 ~ 11& 23,029
O4HEE JI2RE= 2,503

-=0a=z 23,029,000& * 4.5% 1,037
-A2=2E 23,029,000& = 3.335% 769
AL E 769,000& = 10.25% 79
-IE2E 23,029,000& = 1.65% 380
“MHEE 23,029,000& = 1.03% 238
OGEF It 200,000& » 1¥ » 23 400
OFAZe AR 31,278
Oel 2] 81,3408 = 18 » 262 » 12& 25,379
O4UHEE JI2ARE= 2,758
=243 25,379,000& * 4.5% 1,143
-A2EE 25,379,000& = 3.335% 847
“AJeLEE 847,000& = 10.25% 87
-IE2E 25,379,000& = 1.65% 419
“MHEE 25,379,000& = 1.03% 262
Og 2 =Itdl 200,000& = 1&8 = 23 400
O=XNEQAUE 300,000& * 1 300
O& &3 81,340& = 30 2,441
201 LEt2A | 250,251 244,442 5,809
01 At 2teltl 79,560 70,650 8,910
OLZIANRE ZRHEY 3,971
ograa 2,508
- gt 220,000& » 28 * 32 » 95% 1,254
S ZSJ 330,000& x 45 13| * 95% 1,254
(OFSE=3-] 220,000& » 15 * 32 » 95% 627
Ogjeretel 215t
220,000 » 45 13 * 95% 836
ORFANRE SAEX 699
ouad 21,0003 = 202fA = 95% 399
Oodz4a 21,000& = 102F A = 95% 200
Ogoetzte| 213t 21,0008 » 59 A « 95% 100
OSZEHHIES 4,950
OZZEMSE  1,770& = 3004 » 128 » 95% 606
OMEEtES 28,6003 * 22rA * 128 * 95% 653
Ost& Xl 35,7003 = 32A « 128 * 95% 1,221
OANEZ 2=cIXMM S
100,000& » 265 » 95% 2,470
OFAZe BAES 300,000& * 33 * 95% 855
OZOHQ HOAIH FU(BAR)
2,000,000& * 95% 1,900
oW 22l 5,871




SN HRABAL
Bu: AAST
EAAZ AL RS )
SN BA(SA) - MRAY - BES il HImEET
O82a 30,000& = 600 * 122 * 95% 2,052
OE24X A 30,0003 * 3MHA + 128 * 95% 1,026
oAz A
35,0003 = 70H ~ 128 * 95% 2,793
O3J18 &I &2l
45,0003 * 14CH * 128 * 95% 7,182
OAARZEANMSO HE =2 52,089
OoRoZdHEY 10,788
-2AA(2H) 150,000& » 1HA « 123 1,800
~E2AA(XIONCHAHIE)
33,5008 * 1A * 12 402
~22AX A 88,0002 * 34 * 122 3,168
~EARB A 64,5008 * 7HA * 122 5,418
OBAINFINAMN 228
95,0002 * 13| » 204 190
OsINoEBR| s
130,000& = 204 = 12& 3,120
OEIANEEHINEAMN =2
1,000,000& » 104 « 13 1,000
QEI|etd e a2 9,216
B4 570,000& * 1A » 128 6,840
=R DNEN 99,0003 * 2004 * 128 2,376
OALAE 3 HdHl =2 4,080
“EAHA (XA HEH, HRAFAMALHEH
ZE) 340,000& * 1A + 12 4,080
O4woi@B X DES=
200,000& = 19H 200
Odt=HMelAld 2elids2 6,120
~EE MM HE AR A
170,000& » 3M A « 12& 6,120
OLNGAIEAIE Il A ==&
53,000& * 13 53
OLHHMY HAYS 222
450,000& * 53 2,250
OHJIZ2 Hel === 15,072
-ZS4HJI2 Hel 7,680
g2AHL 260,000& * 1A » 123 3,120
SAR
40,0003 * 3HA * 128 * 95% 1,368
2ARE A
40,0003 * 702 » 128 * 95% 3,192
-Hl ==X el 7703 * 8004 * 1A + 128 7,392
OEE88 HMel ==& 950,000& *13] * 95% 903
O=E8& Z23E8J =8
300,000& = 2JH At = 23] * 95% 1,140
02 232gHl 170,691 173,792 A 3,101




2N

X{ XH -
S =

HB - B (3H) - NEAY - BAS O 4t o8 il
OFAMAHESK X HI| 17,813
OB2AA(1040l0}) 2,408& * 4,344 10,461
OB AHA A 3,179
-0 0l ok (Lt ==, =0l) 2,408& * 741m 1,785
-308 0I5 (2 &) 4 874 * 286m 1,394
[@)=Ra PN =N 4,173
-0 0lat(®al) 2,408 * 187m 451
-5 0lokH(gat, &4) 3,135& = 336m 1,054
-20E0|5H(F=S, 22 &, JtAH)
3,748& * 517m 1,938
-254 0lat(E2l) 4,267 * 171m 730
o332= % HA 57,024
(OFrsPIETE=: 2,700,000& = 128 32,400
Qo3 500,000 = 12& 6,000
oA =2 1,500,000& * 12& 18,000
ORr4&YsH S 30,0008 * 12& 360
QoA L) 22 22,000 ~ 12& 264
OE&8=s S 6,790
OxeEgs Y NSIM 600,0008 = 11CH 6,600
ONSAELA iaHAdESH
160,000& * 13 160
OJFAAFDHHA A B ES 30,000& * 13l 30
O Xt& = Xl bl 49,700
a X 2,700,000& = 3CH 8,100
OssExt 4,900,000 = 3CH 14,700
Os& X 6,500,000 = 3CH 19,500
O 2 X 4,300,000 = 1CH 4,300
O3 Xt 3,100,000& = 1CH 3,100
OB HI(ZE2 ZAH) 916& * 8004 * 3& 2,199
(@PSEEET ¥ ls] 2,080
OMd£Ex HA 990,000 = 23| 1,980
OMda+=xX =ZdA=2 100,000& = 13 100
O A& & H| SAldl 27,685
OYHE) KX L2 14,285
—JPA A (GHP) & LHEE D] 1,815,000& = 7CH 12,705
—ZEHANHE 18,150& * 870H 1,580
OE2AHA CCTV | A 224l 500,000& = 128 6,000
OXHANE FAELH| 3,000,000 3,000
OA&EEHl FXAE=2Hl| 400,000& * 11002 4,400
o9 =2 &dl KXl 6,000,000 6,000
onsgeRega 1,400, 000& 1,400
RN 6,500




SN BHABAL
Bu: AYEH
Crel: RAARAAIIYRE (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
01 At =S FSHI 6,500 0 6,500
O &K= AL 5,500,000& * 1CH 5,500
O & 1D (500L0] &) 1,000,000& = 1CH 1,000
BAHNAS2E 133,048 138,448 A5,400
201 Lt 2| 29,448 29,448 0
01 AtSR 22l b 3,648 3,648 0
oAREE & 7Y
200,000& * 3M A * 23 * 95% 1,140
OZZHENH
220,000& * 28 * 3 A * 23] * 95% 2,508
02 35244l 25,800 25,800 0
03222 2 MA 25,800
(OFSPIETE= 1,000,000& * 20HA = 128 24,000
Q4= 2 30,000& = 3MA = 128 1,080
ogedets= 20,000 = 3M A = 12€ 720
307 212t0| & 102,600 109,000 AN6,400
01 9 2L R =H| 102,600 109,000 A 6,400
oz 1,300
O ZE (L, stel) 1,000, 000& 1,000
OL2S (LB, st 300,000 300
OE 1,300
OUZE (L, el 1,000, 000& 1,000
OARE (L, 8tet) 300,000& 300
O=0l(oAd2SHAXA) 100,000
OAUZE (Y, stel) 99,000, 000& 99,000
OAR2E (L, shet) 1,000, 000& 1,000
405 XH&HF S HI 1,000 0 1,000
01 JHMY = EF S H 1,000 0 1,000
o2 I(2E) 1,000,000& = 10H = 1A 1,000
BAlsA2YH 165,871 162,767 3,104
201 LBt A H| 59,071 60,067 A 996
01 At 22l ] 12,131 11,837 294
oAREE & 7Y
200,000& * 7 A * 23 * 95% 2,660
OZZHENH
220,000& * 28 *= 70HA + 13| * 95% 2,926
OEE2HAZ A HIIE3 SE2H|
100,000& = 702 = 95% 665
o=z A 2HEG FHA4G
30,000& » 149 * 7 * 23] 5,880
02 352494l 38,890 40,180 A 1,290
03322 2 MA 36,540




SH BEASAL
B AYEA
Chelt BRAC B AIMIIYRE
SA BB O () - MM - HES 0l &+ o4 il
[OFSPIETa= 400,000 * 7oA + 128 33,600
O&otl=E2=a 25,0003 * 74 + 128 2,100
ORdgsz 10,000& * 7JH 4 + 12& 840
OHfa =S 250,000& * 7JH A 1,750
(OFSEoIENPSEN 15,000& * 40&€ * 13l 600
03 A2 Z Hl 8,050 8,050
OHLSIEZZNHERY 8,050
OZ A= 50,000& * 7IH 4 * 153 5,250
OE2 e 29| 400,000& = 7JH A 2,800
301 LENF 4,200 4,200
12 J|EtE &= 4,200 4,200
ordizZA 2IEYIE =5+
50,000 = 7HA = 128 4,200
307 glz2tol & 98,000 98,000
01 2L =4l 98,000 98,000
© Jt &t 10,000
ogerd = 10,000
%S 9,000,000 9,000
-ARE 1,000, 000& 1,000
O&el 17,000
Oogerd = 17,000
= 16,000, 000& 16,000
-ABE 1,000, 000& 1,000
O=cl 9,000
Ogera = 9,000
-5 8,000,000& 8,000
-ABE 1,000, 000& 1,000
(OFSFS 12,000
Oogerd = 12,000
-%E 11,000, 000& 11,000
A3 1,000, 000& 1,000
©OF:ke; 14,000
ogerd = 14,000
%3 13,000, 000& 13,000
-A2E 1,000, 000& 1,000
©OE=-i4 8,000
ogerd = 8,000
%S 7,000,000 7,000
-AR2E 1,000, 000& 1,000
o2 28,000
Oogerd = 28,000




SN HRABAL
HE: AYSH
Chelt BRAC B AIMIIYRE CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
-4 = 27,000,000 27,000
-A82F 1,000, 0008 1,000
405 XHA&HF S HI 4,600 500 4,100
01 XML 2 FF S| 4,600 500 4,100
O2AMEII(&A)
1,000,000& = 1CH ~ 1JHA 1,000
OMSBASXH(HS, E2l)
300,000& = 1CH = 2904 600
oO=8I (g8, 82 ,It%)
1,000,000& = 1CH » 3JOHA 3,000
BAiEs MEGBR2J B4 = 1,680 1,680 0
o 504
Al 1,176
201 et d| 1,680 1,680 0
= 504
Al 1,176
01 AP 2t 2| bl 1,680 1,680 0
241 =H| 240,000 « 7Y 1,680
& 504
Al 1,176
BAHARg A gxola & 36,103 38,901 N2,798
& 8,790
Al 27,313
101 Q124 H] 36,103 38,901 N2,798
= 8,790
Al 27,313
04 JI2ZtHIZ22NEE S 36,103 38,901 N2,798
OB X0 o822 (7H) 35,159,000 35,159
o= 8,790
Al 26,369
o428 JIHE2E2 944
onEgEs 35,159,000& * 1.65% 581
OMTHEE 35,159,000& * 1.03% 363
sHE BAHOY= HEIA HEAY 127,301 42,300 85,001
= 84,867
= 21,217
Al 21,217
405 Ko SHI 127,301 42,300 85,001
= 84,867
& 21,217
Al 21,217
01 XML 2 ZF S H| 127,301 42,300 85,001
OBAHAMYX(ESEX) 27,000,000& = 3CH 81,000
= 54,000
& 13,500
Al 13,500




SN HRABAL
HE: AYSH
Chelt BRAC B AIMIIYRE CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O 2 Xt 2k 37,500,000 = 1CH 37,500
= 25,000
= 6,250
Al 6,250
O XA MO 2 2,201,000& = 1CH 2,201
= 1,467
& 367
Al 367
OA%ZT WA 6,600,000 = 1CH 6,600
=2 4,400
o=} 1,100
Al 1,100
MEtE H2A XD 885,457 671,898 213,559
J| 447 550
& 102,889
Al 335,018
ot ZIIHE ALY 239,700 189,780 49,920
J| 119,850
= 35,955
Al 83,895
308 XAXISHHMSO0lI& 239,700 189,780 49,920
J| 119,850
& 35,955
Al 83,895
11 B 2SHUSEANE AIS Y 239,700 189,780 49,920
O & &l 239,700,000 239,700
J| 119,850
& 35,955
Al 83,895
252X ALAA 20,000 20,150 A 150
J| 16,000
& 1,200
Al 2,800
308 AMXISHMSOIA 20,000 20,150 A 150
J| 16,000
o 1,200
Al 2,800
112 2SUHUSHEAEAE A Y| 20,000 20,150 A 150
O & &l 20,000,000 20,000
J| 16,000
= 1,200
Al 2,800
StEHAF QS HI AR 214,620 74,260 140,360
J| 107,310
= 32,193
Al 75,117
307 giztol A 214,620 74,260 140,360
J| 107,310




SA: HASAL
=
o

MY AYEX
CHel: MEE HA2AX I (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 32,193
Al 75,117
o1 s =t 214,620 74,260 140,360
Oodet X o= HI A& 214,620,000& 214,620
J| 107,310
= 32,193
Al 75,117
KNS A 24 A 68,478 68,478 0
p] 34,239
Al 34,239
202 044 500 500 0
J| 250
Al 250
01 2L I 500 500 0
OXSANZ AL EZAF OH] 500,000& 500
J| 250
Al 250
307 2iz2to| & 67,978 67,978 0
J| 33,989
Al 33,989
05 QIZ2tRE 2 67,978 67,978 0
O XA AS 242X AMH| 67,978,000 67,978
J| 33,989
Al 33,989
XISAS SSALSTAY 192,936 200,052 AT7,116
J| 96,468
& 19,294
Al 77,174
201 YEtS | 54,576 53,600 976
J| 27,288
& 5,458
Al 21,830
01 AP 22| H| 37,476 28,600 8,876
OHLME AN A 17,476,000 17,476
J| 8,738
= 1,748
Al 6,990
ORUEBAHAY 8,000,000& 8,000
J| 4,000
= 800
Al 3,200
O H2EE ole2el At 10,000,000& 10,000
J| 5,000
& 1,000
Al 4,000
OXNEAMNIEA HEAS 2,000,000& 2,000
J| 1,000
=} 200




SA: HASAL
=
o

Bu: AYEH
Sl B A LRI (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Al 800
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= 1,000
Al 4,000
OYMBALNA ZZ2JH2H 4,600,000 4,600
| 2,300
< 460
Al 1,840
OdgaFE M2l 1,000, 000& 1,000
| 500
< 100
Al 400
OXNGASI S THEALS 1,500, 000& 1,500
| 750
= 150
Al 600
301 LEHZ 2,000 1,000 1,000
| 1,000
< 200
Al 800
12 JIEBHE4 S 2,000 0 2,000
OAENH Al&S 2,000,000& 2,000
J| 1,000
= 200
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< 13,636
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01 2L =4l 136,360 141,452 25,092
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| 2,000
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Al 1,600
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Al 3,200
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Al 5,040
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| 20,000
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StAESHSIALY 117,649 119,075 N 1,426
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2z 330,230 324,761 5,469
101 2121 4| 4,832 4,769 63




™ Y] Y] o — —
© [e0) (o] (o)) ()]
A0 < |« R
Klo
E
E=]
(o)) © © o © ©
[de] [eV) Al o © ©
™~ ~ @ N [©
<t ™ © M~ © N~
< |- o\ ~ |
W3 NS
il
RS
Al [qN] Al — — <t o <t o o) o Ye) o (V) [o0) <t o o o o o o o o o o N N~ N~ o o
™ ™ ™ <t <t <t [ep] — o [e 6] o [ee] o — [QN) [o0) o o o o o o o o o o Y] [Te) [ee] [ee] [de)
© ® ®| T~~~ - —5d& & F H oo Ay ©O& S & H H ©®B S | IN|m T o
< ¥ | @ o~ o) - < — — ™ — — - — o~ <~ — — |~ o o — ©
g | = ol la\] [aV] ~ | S = ™ N
[aV) [a\] [a\] —
=
ar
<
=
all B 5 5 B 3 3 5 S 3 S i) Y| oy ot
[Te] [e)] (o)) ()] [e)] [e)] [0)] ()] (e)) (o)) ()] <t o o o
H x x x x x x x x *x x *x m m m
oir 5 n <= = = W oo = = O §y 8
MO m) o |r_. o o [ep] (V] <t [N) o o () £ -
<t o D o o — o (@) o E3
7 o — (@) o * * * o (@) (@) = —
Al oo« s o« o = - N = ; o nE @
. W 5] Tw w B0 3 & 3
o . W ~@mg 8 - M - - s 3 v 4
a = g S ® w oo, S S M. 3 W Ko _ -
< = = o) S o ~n ok o =) <F e o o Ko o b= ulo
N o o S = S 4 & Ko & S ~ F
Ir ~ ® © a8 2 At L2 g ~g ° - a1
= il - - W L S &8 - W H =)
. Ko o) oS - [l o - o [
- S N — w0 S 80
— &D ) _ = - S Ok ™
= |+ 5 ujo S m o T = =
A ;[ 20 @y i £ Ho
o o < N = 3 z or
F KK = P Hio =4 8 =} K0
o L - |3 =1 e N - K T = i pal =
o 8 |m = B0 80 > 50 T 7|+ 3 0=
. = o0 | A = W= = o = S | ok 5 R
R’ 2 ol o) |OF O @) O O H0 0 ~ | O @)
RO ~ O ol | =< 0 © ol | of
. <t — — [N} N~ —
o o o (e) o o
H (V) ™




SN BHABAL
Bu: AYEH
& 2EY 2eMAHRS (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
—QIEZAUIX YAlY| 9,000& * 7,2004 64,800
-o20|& EF Al
19,010& * 6,000 114,060
OUHEEZA A=8LR2E(FAI] 5)
2,447,000 2,447
OdANMA 29I 36,350
O &AM 90,0003 » 90 A 8,100
Ogel& A 90,000& * 120 A 10,800
Odg (s, o= S)ZA
90,0003 » 70 A 6,300
OS8Y (L&, Zct0ICIor) A A
13,000& * 200 2,600
OAg 2t Z A 555,000& » 10 A 5,550
O3& &AM 250,000& » 129+ A 3,000
OYMNEOAMRZHA 320
Qoo 2= It 40,000 ~ 84 320
It e = 28,600 28,600 0
Ostdlyg 22| 28,600,000& * 1JH 28,600
405 XHoHF S HI 4,200 0 4,200
01 XY 2 ZFH S| 4,200 0 4,200
O (ARXE) 300,000& =« 6CH 1,800
O (MRTE) 200,000& = 6CH 1,200
Oo0lsA AEgd 200,000& =« 6CH 1,200
HET el X 16,632 17,658 A 1,026
= 8,316
< 8,316
LLEN S 16,632 17,658 A 1,026
= 8,316
< 8,316
01 M3IBZE 2053 16,632 17,658 AN 1,026
OgtdgtZ I+ MAHHEl XNF  2,079,000& * 8H 16,632
2 8,316
< 8,316
StMIOITI G A2 Il ff X+ A4 & X| & 81,600 83,640 A 2,040
= 81,600
AU NS 81,600 83,640 A 2,040
= 81,600
01 MEIBEE 253 81,600 83,640 A 2,040
Ostdl ol T o At I|off At A4 & X| &
170,000 * 409 » 123 81,600
= 81,600
2 dgoe 61,852 46,860 14,992
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< 9,280
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307 QI2t0| ™ 61,852 46,860 14,992
J| 30,926
= 9,280
Al 21,646
01 e =t 61,852 46,860 14,992
OHIV/AIDS & 24| 58,124,000& 58,124
J| 29,062
o= 8,720
Al 20,342
OHIVEI EEAIF 200 S 2,750,000 2,750
J| 1,375
& 412
Al 963
odimzZgEy 28 2 e XH 978,000 978
J| 489
o= 148
Al 341
=20 2 E S A A 3,302,080 3,487,104 N 185,024
J| 1,651,040
& 495,312
Al 1,155,728
307 212t0| & 3,302,080 3,487,104 N 185,024
J| 1,651,040
& 495,312
Al 1,155,728
01 9 2L R =H| 3,302,080 3,487,104 N 185,024
O olHEE = 2,237,400,000& 2,237,400
J| 1,118,700
== 335,610
Al 783,090
O0e0ld , SXIM U =S&M AES2A X}
GIREIESES 362,200,000& 362,200
J| 181,100
== 54,330
Al 126,770
O13M O{elo] AERAX HUES
32,600,000& 32,600
J| 16,300
& 4,890
Al 11,410
OYUNE QAE2AHI HYES 17,400,000 17,400
Jl 8,700
o= 2,610
Al 6,090
OHd2 HYE= 644,280,000& 644,280
J| 322,140
== 96,642
Al 225,498
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S 1,230
Al 2,870
A2 20l ALY 88,575 53,108 35,467
| 44,291
= 8,061
Al 36,223
101 @124 H] 31,753 0 31,753
Il 15,880
Al 15,873
04 DIt Z22XsSE* 31,753 0 31,753
OZH A MG 2t S AL 31,753
(@eiFal.] 80,520% = 12¥ » 262 = 128 25,123
Jl 12,562
Al 12,561
Oodtl 60,000& » 1& * 128 720
J| 360
Al 360
O4EE JI2RYE= 2,730
-=0d= 25,123,000& = 4.5% 1,131
Jl 566
Al 565
2ALLE 25,123,000& = 3.335% 838
Jl 420
Al 418
“HIRLEE 840,000& * 10.25% 87
Il 44
Al 43
-1E2E 25,123,000& * 1.65% 415
Il 208
Al 207
“MTHEE 25,123,000& = 1.03% 259
Jl 130
Al 129
OZd2ACWE 274,000 * 1 274
Il 137
Al 137
Oga4d0= 200,000& = 18 = 23 400
Jl 200
Al 200
Onl=H| 90,000& * 1H 90
) 45
Al 45
O& A= 2,415,600& = 1¥ 2,416
Jl 1,208
Al 1,208
201 Lt 2| 4,104 3,600 504
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< 616
Al 1,436
01 At 22l 4,104 3,600 504
OEE=(2E# S 28)
1,000& = 2& = 2,05204 4,104
J| 2,052
< 616
Al 1,436
202 o4dl 3,088 3,088 0
J| 1,544
Al 1,544
01 = LH o4 1l 3,088 3,088 0
oifctae] YA ¢l 3,088,000 3,088
J| 1,544
Al 1,544
301 LeEAF 1,000 1,000 0
J| 500
= 150
Al 350
01 Ml28E 6= 1,000 1,000 0
O3B MAHl XA 1,000, 000& 1,000
J| 500
< 150
Al 350
307 g1+l & 44,630 41,420 3,210
J| 22,315
< 6,695
Al 15,620
01 22724l 44,630 41,420 3,210
Ogod FEX HAH| 734,000& 734
J| 367
< 11
Al 256
OYATHI LAH XA 1,000, 000& 1,000
J| 500
< 150
Al 350
OZHNIAEZ S FAAANS Z23H & HF=ZH
2 g 2tel 20,430,000& 20,430
J| 10,215
< 3,064
Al 7,151
OZHAZTIIAM & FFHPIUANS S
8,432,000 8,432
J| 4,216
< 1,265
Al 2,951

14,034,000&
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Jl 7,017
= 2,105
Al 4,912
308 XX EHSOIA 4,000 4,000 0
J| 2,000
< 600
Al 1,400
113/ 2SHUHSZAEEALS I 4,000 4,000 0
OBYJATEXNZ AL SHES 4,000,000 4,000
J| 2,000
= 600
Al 1,400
o202 ZaZe|AtY 52,850 52,529 321
J| 52,850
307 clztol & 52,850 52,529 321
J| 52,850
02 It HAMAEE 52,850 52,529 321
O2=zJ|2 ZHatk 2l K&
26,425,000 * 2 * 1JHA 52,850
J| 52,850
oty 2gY HE=ZAAA 29 10,000 7,000 3,000
J| 10,000
307 glz2tol & 10,000 7,000 3,000
J| 10,000
05 Rzt E = 10,000 7,000 3,000
OFHEA ol&acidl  10,000,000& * 100 A 10,000
J| 10,000
Slz2td 2EY E2ZAMA 2L (22Hl) 150 100 50
J| 150
202 44l 150 100 50
J| 150
01 S LHOIYI 160 100 50
OczaEzad HE2Al 230l
10,000& = 18 * 152 160
J| 150
MEH OISZAMH 29 2,520 2,520 0
J| 1,260
S 1,260
307 glztol & 2,520 2,520 0
J| 1,260
S 1,260
02 (It HAMAEE 2,520 2,520 0
OMEHc OISZAMA 22X
2,520,000 = 1004 2,520
J| 1,260
< 1,260
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J| 1,500
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201 £B-2d| 2,000 2,000 0
J| 1,000
< 1,000
01 At 22/l 2,000 2,000 0
Od=H HHIHESEH Le=SHl
2,000,000& 2,000
J| 1,000
S 1,000
202 O4dl 400 400 0
J| 200
< 200
01 = LH 4 Hi 400 400 0
OZXSHSRY DS 28 O
200,000& = 29H 400
J| 200
< 200
206 M= Hl 600 600 0
J| 300
< 300
01 M= 4l 600 600 0
ORoz=d 224 = 600,000& 600
J| 300
< 300
MEHA ==SUHERA HUEBSF FUHXA 5,700 0 5,700
J| 2,850
Al 2,850
405 RHoHE S HI 5,700 0 5,700
J| 2,850
Al 2,850
01 AL EZFH S 5,700 0 5,700
Olevel A 5= 1,350,000& * 2N E 2,700
J| 1,350
Al 1,350
Od=HA =sUHE8E SII=&7! 704
3,000,000& = 14 3,000
Jl| 1,500
Al 1,500
DELH9 Al X =8l XA 13,400 0 13,400
= 6,700
< 6,700
307 21201 A 13,400 0 13,400
= 6,700
< 6,700
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= 200,000
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038 Bg 224 X129 N
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ZHANS s L HLEE =4 1,761,317 203,751
= 14,623
| 895,836
< 251,329
Al 599,529
dEAHL 2Ll AL 66,005 11,535
- 5,123
< 1,024
Al 59,858
101 124 dl 11,535 11,535
= 5,123
< 1,024
Al 5,388
4 JI12ZtHZE2XREES 11,535 11,535
Og2AZ 22 A 11,535
ooy 76,9603 * 262 x 53 10,005
= 5,003
< 1,000
Al 4,002
Odzod st 240,000& = 1H 240
= 120
< 24
Al 96
OC42E JI12=2E3 1,090
=03 10,004,800 = 4.5% 451
-HLYEER 10,004,800& * 3.335% 334
-“AJeeEE e 334,000& * 10.25% 35
-NE82d 10,004,800& * 1.65% 166
M EH 10,004,800& * 1.03% 104
OFEFItHI 200,000& = 1H = 13l 200
201 £B-2%H| 2,470 0
01 At 22l 2,470 0
osg2 1,0002 * 2,6007 * 95% 2,470
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J| 100
& 30
Al 70
09 #HALAHI XIS 2 200 200 0
OMIIY XNXx2A 24 100,000& = 23| 200
J| 100
o 30
Al 70
307 212t0| & 7,755 7,755 0
J| 3,877
o=t 1,163
Al 2,715
01 s = 7,755 7,755 0
OA%E &L ADE 7,755,000 7,755
J| 3,877
= 1,163
Al 2,715
SIAUXLEEEXN QA SH A 500,000 342,100 157,900
J| 250,000
& 75,000
Al 175,000
308 XAHXIGHH SO0l & 500,000 342,100 157,900
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| Al 54,486
Ols - 443 HAEAHAY 52,294 51,970 324
J| 26,147
== 26,147
307 2Iz2to| & 52,294 51,970 324
9] 26,147
= 26,147
05 QIZ2tREF 2 52,294 51,970 324
O0ts - H3AUE HAB2AHAY 52,294,000 52,294
J| 26,147
& 26,147
LEsEA Mz 2eld N 22,000 25,000 A 3,000
& 6,600
Al 15,400
307 giztol & 22,000 25,000 A 3,000
& 6,600
Al 15,400
05 QIZtR ES 22,000 25,000 A 3,000
OSESZEN 22 XY 22,000,0008 22,000
= 6,600
Al 15,400
TaiEK S2MY MBH KV 13,000 13,000 0
= 3,900
Al 9,100
307 2I2t0| & 13,000 13,000 0
= 3,900
Al 9,100
05 QI2tE 2 13,000 13,000 0
OXNAMAS X =2 x=2H XA
13,000, 000& 13,000
= 3,900
Al 9,100
XSG AE K& HERZA 25 4,000 4,000 0
= 1,200
Al 2,800
307 QI2t0| ™ 4,000 4,000 0
& 1,200
Al 2,800
05 QIZtREZ 4,000 4,000 0]
OX<EAS XHAMHE HUERKRIT 5
4,000,000& 4,000
o= 1,200
Al 2,800
HAALSNNME S SAL HRHAH X2 12,000 12,000 0
= 3,600
Al 8,400
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307 glz2tol & 12,000 12,000 0
< 3,600
Al 8,400
05 RIZHRI & 3 12,000 12,000 0
OFNAZFXHE S SMA MRIMHLHl X
12,000, 000& 12,000
< 3,600
Al 8,400
daEE X=H K3 ALY 19,000 0 19,000
= 9,500
< 3,800
Al 5,700
307 gl2tol & 19,000 0 19,000
= 9,500
< 3,800
Al 5,700
05 RIZHRIE 3 19,000 0 19,000
OFAZHE X=H XI& At 19,000, 000& 19,000
= 9,500
< 3,800
Al 5,700
XOHetal dlEe 2F X2 453,216 492,244 A 39,028
J| 362,572
< 18,129
Al 72,515
101 124 dl 14,559 42,470 A27,911
J| 11,646
< 583
Al 2,330
4 JI2ZtHZ22HEE =+ 14,559 42,470 A27,911
OsXX tHeH 14,559
ool 80,520 = 26 = 53 10,468
J| 8,374
< 419
Al 1,675
C4AEE JI22E3 1,139
=23 10,468,000& * 4.5% 472
J| 378
< 19
Al 75
-A2=2E 10,468,000& * 3.335% 350
J| 280
= 14
Al 56
B3I eLEE 350,000& * 10.25% 36
J| 29
= 2
Al 5




SN BHABAL
HH: ALEZ
S B HANES & L AL =4 (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
-1ESE 10,468,000& * 1.65% 173
| 138
< 7
Al 28
-MHEE 10,468,000& * 1.03% 108
| 86
= 4
Al 18
OFEFOtHI 200,000& = 1H 13 200
| 160
< 8
Al 32
O=& 0| 50,000& = 1H = 53 250
| 200
< 10
Al 40
Osl&z Fitz 2,502,000& » 1H 2,502
| 2,001
< 100
Al 401
201 LEr2 Y| 293,463 262,174 31,289
| 234,770
< 11,739
Al 46,954
01 At 2+2/H 238,443 207,454 30,989
O g AN = 1,372,000& » 1H 128 16,464
| 13,171
< 659
Al 2,634
OZ32FA AMIAZAEDIN =2
100,000 * 2A 200
| 160
< 8
Al 32
O3l 4 1,200
OXNYGAMAEAM 3o &
100,000& * 23] » 4H 800
J| 640
< 32
Al 128
OXMSSEFEAME Mz H#AY
100,000 * 4% 400
| 320
< 16
Al 64
o1l =l 90,000& = 209H 1,800
| 1,440
< 72
Al 288
oY= &2l 32,0003 = 404 = 12& 1,536




SN BHABAL
Bu: AYEH
CHelr ARHANE PE U AABY =4 (el:de)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Il 1,229
= 62
Al 245
O3J1&8&FJ| el 35,0003 = 4CH = 12& 1,680
| 1,344
= 67
Al 269
OHALEY =& 1,380,000& » 1H » 12&8 16,560
| 13,248
< 663
Al 2,649

OgRE g U =2

585,000& = 1CH = 108 5,850
Jl 4,680
& 234
Al 936

130,000& = 1CH = 128 1,560

Il 1,248

< 62

Al 250

OXIOHRHA HIE Al 2 HI 184,000
OXis=E2cl & I3

20,000,000& 20,000

Jl 16,000

< 800

Al 3,200
OXIH NS R Ol 2el At

20,000,000& 20,000

y 16,000

< 800

Al 3,200

OXIHeta Ot 24 5,000,000& * 2042 10,000

Il 8,000

< 400

Al 1,600

0

OXI0H & Xt & IS E ALY

i

14,000,000& 14,000

Il 11,200

< 560

Al 2,240

OXMYME 210 X 22 120,000,000 120,000
) 96,000

< 4,800

Al 19,200

OXIHtA dlH 22HI 632,750 * 12& 7,593
Il 6,074

< 303

Al 1,216

02 2324l 15,020 14,720 300




SA: HASAL
=

Za: Y

el ASHAANS 75 & A2EF &4 (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
OXNNUAME SHRS(AASH)
500& = 23,600A 11,800
bl 9,440
=) 472
Al 1,888
o1, g4y, d3te=a 60,000 * 123 720
J| 576
< 29
Al 115
O X=Xt 200,000& = 1CH = 108 2,000
J| 1,600
=) 80
Al 320
OZRIY MUK ¥ A LHI
100,000 * 53| 500
bl 400
< 20
Al 80
03 &Ar2 I 40,000 40,000 0
ORS, ZRIY U HH 2
20,000,000& 20,000
J| 16,000
=) 800
Al 3,200
OXIbietaits 29 20,000,000 = 10024 20,000
J| 16,000
< 800
Al 3,200
202 04 Hl 24,000 24,000 0
J| 19,200
< 960
Al 3,840
01 = LH 4 Hi 24,000 24,000 0
OXIHH S SF0Hl 100,000& = 20 = 128 24,000
J| 19,200
=) 960
Al 3,840
301 LEtEH S 19,480 20,000 A 520
J| 15,584
=) 779
Al 3,117
09 HALAMHIXI &3 17,080 20,000 A 2,920
ORS, Z208 ¥ HH 2Y S
15,080,000& 15,080
J| 12,064
=) 603
Al 2,413
OXIbietaits 29 1,000,000& * 200 £ 2,000
J| 1,600




SN BRBAL
Bu: AYEH
ABHAUNE 75 Y AYHY X4 CEEEED
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
= 80
Al 320
12 JIEtE2 A= 2,400 0 2,400
O225402 =X
200,000¥ = 1  12€ 2,400
J| 1,920
& 96
Al 384
307 2iz2to| & 101,714 143,600 N41,886
J| 81,372
= 4,068
Al 16,274
01 s R=Hl| 101,714 143,100 N41,386
OXONeXx AMes IH
35,000 * 15098 * 12& 63,000
J| 50,400
& 2,520
Al 10,080
OoAE U oz ARE 22,214,000 22,214
Dl 17,772
= 888
Al 3,554
OXIHZDIZE HUAAE 150,000 * 110Y¥ 16,500
J| 13,200
& 660
Al 2,640
XX 222 H XK ([ Hl) 133,196 115,072 18,124
J| 66,598
& 19,979
Al 46,619
308 XX EHSOIA 133,196 115,072 18,124
J| 66,598
&< 19,979
Al 46,619
112 2SUHUSHE A XEAE A Y| 133,196 115,072 18,124
O2¢%HMH X 133,196,000 133,196
J| 66,598
o= 19,979
Al 46,619
XN 225H X 2,900 2,700 200
J| 2,320
= 116
Al 464
201 et 500 300 200
J| 400
& 20
Al 80
01 AR 2t2l ] 500 300 200




SN HRABAL
M ALSA
Sl 2HUANB 25 U AV T4 (B9 ®R)
SN HH-S(BN) - MBAY - B il HlnE2
odT HX HIE S 500,000& 500
| 400
< 20
Al 80
301 LPENF 2,400 2,400 0
| 1,920
< 9
Al 384
12 JIEtE 43 2,400 ,400 0
o4l gzt 200,000& = 18 » 123 2,400
| 1,920
< 96
Al 384
XNtk =sHEXNA 75,407 ,295 16,112
< 15,082
Al 60,325
307 gl2tol & 75,407 ,295 16,112
< 15,082
Al 60,325
01 =LA =4l 75,407 ,295 16,112
OXIOHEX SSHEX A 75,407,000 75,407
< 15,082
Al 60,325
QARSI (AXNTHE T2I8 29) 10,000 ,000 0
= 2,000
Al 8,000
201 L2l 2,400 ,500 A 1,100
= 480
Al 1,920
01 At 22l 2,400 ,500 21,100
CoXMEa=EzNdl 222 £ WsSAE S
2,400,000& 2,400
= 480
Al 1,920
301 LEEXZ 7,600 ,500 1,100
= 1,520
Al 6,080
09 HALAHIX &S 200 300 A 100
OCeXMEZZ ) dHArA | 200,000 200
= 40
Al 160
12 J|EBtE 4= 7,400 6,200 1,200
©2J14 X210l &=l 7,400,000& 7,400
< 1,480
Al 5,920
40 Otsel HZAe 28 1,259,735 1,298,769 A 39,034
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2N
X ZH -
L= B

el

N

FO Y ok
0x 0¥ {0

BN H
oy

X

FS2l A A

2

o

ton

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OANE=EEH| 1,887,000 1,887
J| 1,510
= 113
Al 264
A0 ALHA 1,900 3,000 A 1,100
J| 1,520
& 114
Al 266
308 XAHXIGHH SO0l & 1,900 3,000 A 1,100
J| 1,520
& 114
Al 266
11 B 2SHUSEANE AIS Y 1,900 3,000 A 1,100
O R0t & H| 1,900,000 1,900
J| 1,520
= 114
Al 266
A0 LEHO dLUAAH K& 2,337 2,250 87
J| 1,869
& 141
Al 327
307 2Iz2t0| & 2,337 2,250 87
Jl 1,869
o= 141
Al 327
01 sd =l 2,337 2,250 87
OYR0F LA HLUA A 2,337,000& 2,337
J| 1,869
= 141
Al 327
HEE HAOIAMZE AN & &0ot2e] 23,040 26,000 AN 2,960
J| 11,520
& 5,760
Al 5,760
307 2iztol & 23,040 26,000 A 2,960
J| 11,520
& 5,760
Al 5,760
o1 s R=tl 23,040 26,000 A2,960
OEH HAIOIA A AN & SH0F2te]
23,040,000 23,040
J| 11,520
& 5,760
Al 5,760
S SGEAAF L BFI| NS 2,000 5,250 AN 3,250
J| 1,000
& 500
Al 500




SN BRBAL
Bu: AYEH
e 24 Ots2 H2AAE 28 (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
307 2Iz2to| & 2,000 5,250 N 3,250
J| 1,000
& 500
Al 500
01 e =t 2,000 5,250 N 3,250
O3 AHl & EFI| X 2,000,000& 2,000
J| 1,000
= 500
Al 500
Ol=0F & A&H0|&0F 2 24| 40,960 45,000 A4 040
J| 20,480
= 10,240
Al 10,240
307 QI2t0| & 40,960 45,000 A4 040
J| 20,480
& 10,240
Al 10,240
o1 szt 40,960 45,000 A4 040
O0l=0t & dFH0|A0F 2 =H|
40,960,000 40,960
J| 20,480
= 10,240
Al 10,240
E=2E2H+3 1,718 1,718 0
J| 859
& 429
Al 430
308 XAHXIGHHM SO0l & 1,718 1,718 0
J| 859
& 429
Al 430
11 BI2SHUSEANRE AISH 1,718 1,718 0
OE=R2NEAHEH 1,718,000 1,718
J| 859
= 429
Al 430
HAEE XA 206,400 174,000 32,400
Dl 103,200
= 51,600
Al 51,600
307 212t0| & 206,400 174,000 32,400
J| 103,200
o= 51,600
Al 51,600
01 s =l 206,400 174,000 32,400
OLAEE Al=HAHA 206,400,000& 206,400
J| 103,200




2AM: N

X{ XH -
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el

FO Y ok
0x 0¥ {0
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oy

FS2l A A
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SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

H

51,600
Al 51,600

=099 5 T
= PN

SHIXE A 16,443 16,490 NAT

201 Zer24l 903 950 NAT

af 903 950 NAT
OZEE2=SH= 2,000 * 4755 * 95% 903

307 21201 A 15,540 15,540 0

01 =272l 15,540 15,540 0

== PNE=E:IDAR-!

1,036,000& = 15H 15,540

DAgAMR =2H X3 30,000 30,000 0
Il 15,000
7,500
7,500

= M

307 21201 & 30,000 30,000 0
Jl 15,000
7,500
Al 7,500

2l

01 =472l 30,000 30,000 0
IS HIX& 30,000,000 30,000

15,000
,500
7,500

©
kJ
4
Ml
0o
s
i
(]

= N Y
~

MASE JHA ZMES NFAY 207,500 157,500 50,000
103,750
,875
51,875

= N W
N

308 XXM SO0l ™ 207,500 157,500 50,000
103,750
51,875
51,875

= MW

Ol CH &t B & & 9| EF A HI 207,500 167,500 50,000

207,500,000& 207,500
103,750
51,875
51,875

= N H

10

orzte| 81,982 109,875 N 27,893
J| 8,900
= 4,350
Al 68,732

gZJl2 & N=Ed 2,407 1,900 507

201 LEt2E | 2,407 1,900 507

]l 2,407 1,900 507




SN HEBAL
Ha: AYSH
el ootarel o EA)
= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
OAMAHOIt2AY L HHQ ESEES
1,000& = 2,0000H * 95% 1,900
OESEAAZT =HE =HE M
41,000& * 1374 = 95% 507
229z 475 475 0
201 £B-2d| 475 475 0
01 At 22l 475 475 0
o= ¥ S=SXX 8=
1,000& = 5008 = 95% 475
AsAEEAI 22X 15,000 ,000 0
J| 7,500
< 3,750
Al 3,750
405 Xt&tE SHI 15,000 ,000 0
J| 7,500
< 3,750
Al 3,750
01 HAtH ESFH S 15,000 ,000 0
oOnsaEFEAHI 3,000,000& * 5CH 15,000
J| 7,500
< 3,750
Al 3,750
EAA MEHEE 2HREA 2,000 ,000 0
J| 1,400
< 600
307 glz2+ol & 2,000 ,000 0
Jl| 1,400
= 600
01 22272l 2,000 ,000 0
o0Oss2d=2AHNE 2,000,000 = 1MIE 2,000
J| 1,400
< 600
S HAX Otss2 HsHESAI B3 35,100 ,500 A5,400
405 TtabF S| 35,100 ,500 25,400
01 AL ESFH SHI 35,100 ,500 A5,400
oOsaEFEAI 2,700,000& = 130K 35,100
224 HsdESZHI WA 27,000 0 27,000
405 Xt&tE SHI 27,000 0 27,000
01 At ESFH S 27,000 0 27,000
oOnsaEFEAHI 2,700,000& * 10CH 27,000
HY2HIH(FABZAL) 1,902,460 1,832,909 69,551
= 66,247
J| 391,784
=) 56,422
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X ZH -
L= B
el

ro gt o4
19 02 0
H0 Mo T

02 02 ¥
oy >
=5
o
Ry
T
S
b

=5

SN EB S (3H) - NBAY - B2 o A o il 2
Al 1,388,007
ol 2 A | 1,735,725 1,658,393 77,332
= 66,247
Dl 391,784
= 56,422
Al 1,221,272
Pallsl! 962,393 872,477 89,916
101 2121 4| 962,393 872,477 89,916
01 2= 195,138 180,846 14,292
oYeH= 195,138
OznIRLY
10,841& * 50 = 30Al2¢ 128 195,138
02 JIEt& E % 73,960 75,194 N1,234
OLBtA I H 3,378
Ox=w2Rx
14,0723 ~ 1% = 20A| 2t 128 3,378
OZ2F 2 HA 70,582
Orzssdd=2 900,000& * 6Y 12& 64,800
OREs 40,0003 * 6Y 128 2,880
Oxl22Y 2,902
e 13,0223 * 1Y = 4A| 2+ 128 626
-5 9,482 * 5 x 4A| 2t 12& 2,276
03 I L2 XNHE % 693,295 616,437 76,858
(©FuFals] 599,713
OJleas(derz2aa) 199,932
-215=200t2) 3,261,740 ~ 1H 128 39, 141
-178200t2) 3,037,940& *~ 1H 128 36,456
-155=2(0t2) 2,925,850 * 1¥ 128 35,111
-108209t=2) 2,646,380 *~ 1H 128 31,757
-6 2(Jt3) 2,422,370 * 1H 12& 29,069
55 2((0t3) 2,366,500& » 1H 128 28,398
OIEsx=Y 26,640
=N 40,000& * 19Y 128 9,120
-Z=H|l= 20,000 * 12¢ 12& 2,880
o PIE] 20,000& = 109¥ 128 2,400
-= M X 60,000& » 7H 128 5,040
- RHOl = X 100,000& * 6Y 128 7,200
o254+ 126,720 * 29™ 128 44,099
O&Ax=E 50,000& = 20Y¥ 128 17,400
ORExd 30,000& *» 29 128 10,440
OxUIZ 2 (HE , 5222)
17,7703 * 299 = 15A] 2¢ 128 92,760
O= &l 140,000& * 20Y¥ 128 48,720




AN FEABAL
M ANSHAY(BARAL)
Sel: o2y (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFEFOtHI 1,267,200 » 29% * 23| 73,498
OAHIE &HH| 94,8003 * 29 » 20 54,984
Oo&n= 800,000& * 29% =« 13| 23,200
O24+DEHI(ASA)
40,000 * 27 * 13l 1,080
Ous % 2A=F0H
40,0002 * 2998 * 13| » 6 6,960
C4liE" JI2RES 90,972
O=gd3 837,894,000& = 4.5% 37,706
OHL=EE 837,894,000& = 3.335% 27,944
OFIRAEHE 27,944 ,000& * 10.25% 2,865
OCnE:d 837,894,000& * 1.65% 13,826
OMHEH 837,894,000& * 1.03% 8,631
o=l 90,000& = 299H 2,610
ANZZSHUSAIE (BX) 39,605 52,560 A 12,955
J| 19,803
Al 19,802
101 124l 37,557 51,535 A 13,978
J| 18,779
Al 18,778
02 JIEtE B = 29,311 13,294 16,017
OAZHEEHYIH SR Jl=s
1,747,330 * 18 * 123 20,968
J| 10,484
Al 10,484
ONHEEH LI L S0
1,864,000& * 19 1,864
J| 932
Al 932
otEsx¢ 1,680
Ot <Xt 40,0002 * 1H * 123 480
p] 240
Al 240
O&Hl= 20,0008 = 1 = 128 240
J| 120
Al 120
OXMAH 20,000& = 1% = 128 240
J| 120
Al 120
O=miyd 60,0008 = 1% = 128 720
J| 360
Al 360
OANARR4 G
8,798% * 18 » 20AI12F » 123 2,112
Jl| 1,056
Al 1,056
OE+=HRSH 83,870& * 1% = 12& 1,007
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AlH] 140,000& = 1F = 128

&2t S A 2,748,500& » 1€ = 3

Jl
Al

y

Al

Il
Al

504
503
1,680

840
840

8,246
8,246

4,123
4,123

Jl
Al

2,048

1,024
1,024

JHAETRIEOIM CHEl 2 SHI
*

AIIH (92 & )
* *

|
145,0008 * 198 = 35/40A12 « 128

50,0008 » 1

Jl
Al

Il
Al

1,523

1,523

762
761

525

525
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263

n <

Al
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190,306
9,515
38,061

re
[

Jl

= i1

223,549
178,839
8,942
35,768

U
>
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J

A
s

BHSINH SR Jl=s

1,886,910& = 798 « 128

A Al

IIH B2

0

S0
17,127,000&

0o

At 40,0003 = 5% = 12&

-Edl s 20,000& = 18 « 128

Il

H

Al

Il

H

Al
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=

223,549
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6,340
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1,920
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240

=

i
2m




SN BHABAL
MY BHSAAH(BEBAL)
& o 2d| (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Il 192
< 10
Al 38
e PNIE 20,0003 * 494 » 12& 960
| 768
< 38
Al 154
1. PNE 60,0003 = 4H » 123 2,880
| 2,304
< 115
Al 461
ONe2Rag
8,798& = 7H * 20AI2t = 128 14,781
| 11,825
< 591
Al 2,365
OS2 90,570 = 7% x 12& 7,608
J| 6,086
S 304
Al 1,218
Ositsds+% 758,520& * 1H » 53 3,793
| 3,034
< 152
Al 607
Og¢ItE &t 6,490 * 7H * 77AI2} 3,499
| 2,799
< 140
Al 560
O&F M Z Al 140,000& = 7H » 12& 11,760
| 9,408
< 471
Al 1,881
204 AR A H| 14,333 14,333 0
| 11,467
< 573
Al 2,293
02 &g 2 Xl 10,658 10,658 0
OAZHEEH LI N (92 &4 L)
145,000% * 7Y = 35/40A12t = 12& 10,658
| 8,527
< 426
Al 1,705
03 EZYRFHI 3,675 3,675 0
OAZIEEHAIIN e EsHI(SS3Hl)
50,000& * 7 * 35/40Al12F = 12€ 3,675
| 2,940
< 147
Al 588
SNNYES S5 AHHI(EX) 26,780 26,544 236
| 13,390




SN BRBAL
MY BHSAAH(BEBAL)
chel: ol gyl CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Al 13,390
101 1244 dl 26,780 26,544 236
| 13,390
Al 13,390
03 RIHAZZAE S 26,780 26,544 236
OUHLTZEESSHEHIE 2l
26,780,000& » 1H 26,780
| 13,390
Al 13,390
KNAAMNE SSHHLSIAMY(EX) 212,760 207,360 5,400
| 106,380
< 21,276
Al 85,104
101 @144 dl 212,760 207,360 5,400
| 106,380
< 21,276
Al 85,104
03 RIAHAZZ A2 212,760 207,360 5,400
ORI HAZZ2 X 21 AHH(9Y) 212,760
OSEHLSIAMY 2 21|
210,600, 000& 210,600
| 105,300
< 21,060
Al 84,240
OSEHLSIAMY d2esE WEH|
240,000 * 94 2,160
J| 1,080
= 216
Al 864
NAASE 2AXNAMBIA(EXE) 123,810 137,760 A 13,950
| 61,905
< 12,381
Al 49,524
101 1A dl 123,810 137,760 A 13,950
| 61,905
< 12,381
Al 49,524
03 RIAHAAZZRHE > 123,810 137,760 A 13,950
O=H&EA & SHRMAHA 123,810
ool 1,950,000& » 5% * 12& 117,000
| 58,500
< 11,700
Al 46,800
O=& X+ 1Al 1,950,000& = 1H » 3& 5,850
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